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A tree imposes a hierarchical structure on a collection of items. Familiar
examples of trees are genealogies and organization charts. Trees are used to
help analyze electrical circuits and to represent the structure of mathematical
formulas. Trees also arise naturally in many different areas of computer sci—

ence. For example, trees are used to organize information in database sys-
tems and to represent the syntactic structure of source programs in compilers.
Chapter 5 describes applications of trees in the representation of data.
Throughout this book, we shall use many different variants of trees. In this
chapter we introduce the basic definitions and present some of the more com-
mon tree operations. We then describe some of the more frequently used data
structures for trees that can be used to support these operations efficientty.

3.1 Basic Terminology

A tree is a collection of elements called nodes, one of which is distinguished as
a root, along with a relation (“parenthood") that places a hierarchical struc-

ture on the nodes. A node, like an element of a list, can be of whatever type
we wish. We often depict a node as a letter, a string, or a number with a cir-
cle around it. Formally, a tree can be defined recursively in the following
manner.

5. A single node by itself is a tree. This node is also the root of the tree.

2. Suppose n is a node and TI, T2, . . . ,Tk are trees with roots
n1, n2. . . . ,nk, respectively. We can construct a new tree by making n

be the parent of nodes n1, n2, . . ..nk. In this tree n is the root and
T1, T2. . . . ,7), are the subrrees of the root. Nodes n1, n2, . . . ,nk are
called the children of node n.

Sometimes, it is convenient to include among trees the null tree, a “tree" with
no nodes, which we shall represent by A.

'_Example 3.1. Consider the table of contents of a book, as suggested by Fig.
_- 3_.1(a). This table of contents is a tree. We can redraw it in the manner
shown in Fig. 3.1(b). The parent-child relationship is depicted by a line.

_Trees are normally drawn top-down as in Fig. 3.1(b), with the parent above
the child.

' _The root, the node calied “Book," has three subtrees with roots

eresponding to the chapters C1, C2, and C3. This relationship is
épresented by the lines downward from Book to C1, C2, and C3. Book is
he parent of C1, C2, and C3, and these three nodes are the children of Book.

 



 
Book . rBook

Ci? / \ 

 

5 C1 C2 c3
C2

.21 / \ / \
52.1.1 51.1 31.2 52.1 52.2 52.3
52.1.2

52.2 / \
52.3 52.1.1 52.1.2

(a) (b)

Fig. 3.1. A table of contents and its tree representation.

The third subtree, with root C3, is a tree of a single node, while the other

We subtrees have a nontrivial structure. For example, the subtree with root
C2 has three subtrees, corresponding to the sections s2.l, 52.2, and s2.3; the
last two are one~node trees, while the first has two subtrees corresponding to
the subsections s2.l.1 and 52.1.2. El

Example 3.1 is typical of one kind of data that is best represented as a
tree; In this example, the parenthood relationship stands for containment; a
parent node is comprised of its children, as Book is comprised of C1, C2, and

C3. Throughout this book we shall encounter a variety of other relationships
that can be represented by parenthood in trees. .

If n1, n2, . . . ,nk is a sequence of nodes in a tree such that n,- is the

parent of nm for l S i < k, then this sequence is called a path from node n;
to node 11;. The length of a path is one less than the number of nodes in the
path. Thus there is a path of length zero from every node to itself. For
exampie, in Fig. 3.] there is a path of length two, namely (C2, s2.1, s2.l.2)
from C2 to 52.1.2.

If there is a path from node a to node b, then a is an ancestor of b, and b
is a descendant of a. For example, in Fig. 3.1, the ancestors of 52.1, are

itself, C2, and Book, while its descendantsare itself, 52.1.1, and $11.2.
Notice that any node is both an ancestor and a descendant of itself.

An ancestor or descendant of a node, other than the node itself, is called

a proper ancestor or proper descendant, respectively. In a tree, the root is the
only node with no proper ancestors. A node with no proper descendants is
called a leaf. A subtree of a tree is a node, together with all its descendants.

The height of a node in a tree is the length'of a longest path from the
node to a leaf. In Fig. 3.] node C1 has height 1, node C2 height 2, and node
C3 height 0. The height of a treeris the height of the root. The depth of a
node is the length of the unique path from the root to that node.

  

  
 
 

  
  

  
  
  

  
  

  
  
  
  

  

  
  
  
  
  
  

 



 
3.1 BASIC TERMINOLOGY Tr'

The Order of Nodes

The children of a node are usually ordered frorn left-to-right. Thus the two
trees of Fig. 3.2 are different because the two children of node it appear in a
different order in the two trees.‘ If we wish explicitly to ignore the order of
children, we shall refer to a tree as an unordered tree.

Fig. 3.2. Two distinct (ordered) trees.

The “left-to-right” ordering of siblings {children of the same node) can be
extended to compare any two nodes that are not related by the ancestor-

descendant relationship. The relevant rule is that if a and b are siblings. and
a is to the left of b, then all the descendants oi'a art: to the left of all the des-
cendants of b.

Example 3.2. Consider the tree in Fig. 3.3. Node 8 is to the right of node 2,
to the left of nodes 9. 6, 10. 4. and 7. and neither left not right of its ances-
tors 1, 3. and 5.

Fig. 3.3. A tree.

A simple rule, given a node n. for finding those nodes to its left and those
to its right, is to draw the path from the root to n. All nodes branching off to
the left of this path, and all descendants oi" such nodes, are to the left of in.
All nodes and descendants of nodes branching off to the right are to the right
of n. U

viii;tend

Sign»an;A:«EFT-«wake

 



 
TB TREES

Freon-tier, Postorder. and 1110er

There are several useful ways in which we can systematically order all nodes

of a tree. The three most important orderings are called preorder, inorder
and postorder; these orderings are defined recursively as follows.

0 If a tree T is null. then the empty list is the preorder. inorder and post-
order listing of T.

o If T consists a Single node. then that node by itself is the preorder.

inorder. and postorder listing of T.

Otherwise, let T be a tree with root it and subtrces Tl, T2, . . . {I}, as sug-
gested in Fig. 3.4.

0

A

Fig. 3.4. Tree T.

l. The preorder listing (or preorder rraversoi) of the nodes of T is the rent it
of T followed by the nodes of T] in preorder. then the nodes of T2 in
preorder. and so on. up to the nodes of Ti. in preorder.

2. The inorder listing of the nodes of T is the nodes of T. in inorder, fol-

lowed by node it, followed by the nodes of T3. . . . .1}. each group of

nodes in inorder. .

3. The postnrder listing of the nodes of T is the nodes of T. in postorder,
then the nodes of T2 in postorder, and so on, up to Th all followed by
node [1.

Figure 3.5(a) shows a sketch of a procedure to list the nodes of a tree in

preorder. To make it a postorder procedure, we simply reverse the order of
steps (I) and (2}. Figure 3.5(b) is a sketch of an inorder procedure. In each
case, we produce the desired ordering of the tree by calling the appropriate
procedure on the root of the tree.

Example 3.3. Let us list the tree of Fig. 3.3 in preonler. We first list i and
then call PREORDER on the first subtree of l. the subtree with root 2. This

sobtree is a single node. so we simply list it. Then we proceed to the second
subtree of l. the tree rooted at 3. We list 3. and then call PREDRDER on

thc first subtree of 3. That call results in listing 5, 8. and 9, in that order.

10

 

 
 



 
 
 

 

 
 
 
 

 

 
 
 

 
 

 

 
 
 

 
 

 
 

 
 

 
 

 

 

3.: BASIC TERMINOLOGY 79

procedure PREORDER ( n: node );
begin

(1} list it;

(2) [or each child c of a, if any. in order from the left do
PREORDER(£}

end: { PREORDER }

(a) PREORDER procedure.

procedure INORDER { in: node );

begin
if n is a leaf then

list :1

else begin

_INORDERGeftmost child of a);
list a:

[or each child r: of it, except for the leftmost.
in order from the left do

[NOR 13151102)
and

end; { INORDER }

(b) [NORDER procedure.

Fig. 3.5. Recursive ordering procedures.

Continuing in this manner, We obtain the complete preorder traversal of Fig.
3.3: l, 2, 3, 5, 8, 9, 6. 10, 4. 7.

Similarly, by simulating Fig. 3.5(a) with the steps reversed, we Can dis-
cover that the postorder of Fig. 3.3 is 2, 8, 9. 5, 1i]I 6. 3. 7", d, 1. By simulat~

ing Fig. 3.50:), we find that the inordet listing of Fig. 3.3 is 2, 1, 8, 5, 9, 3,
1i], 6, T. 4. D

A useful trick for producing the three node orderings is the following.
_. Imagine we wail: around the outside of the tree. starting at the root. moving

counterclockwise. and staying as close to the tree as possible; the path we have
:in mind for Fig. 3.3 is shown in Fig. 3.6.

__ For preorder, we list a node the first time we pass it. For postorder. we
.' list a node the last time we pass it, as we move up to its parent. For inorder,

" We list a leaf the first time we pass it. but list an interior node the second time
23'"??? pass it. For example, node 1 in Fig. 3.6 is passed the first time at the
- beginning, and the second time while passing through the “bay“ between

nodes 2 and 3. Note that the order of the leaves in the three orderings is
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80 TREES

x’x/ ' Ken.
(“f/Z: ! (”:3
\___.,,/ / \

1/5//(fx\\:i\\l l! )
x/ \\ \thl s H 9 1 1o 1
ll\_,// \NJ” \x/l

Fig. 3.6. Traversal of a tree.

always the same left-to-right ordering of the leaves. It is only the ordering of
the interior nodes and their relationship to the leaves that vary among the
three. CI

Labeled Trees and Expression Trees

Often it is useful to associate a label. or value. with each node of a tree, in

the same spirit with which we associated a value with a list element in the pre-
vious chapter. That is, the label of a node is not the name of the node, but a

value that is “stored“ at the node. In some applications we shall even change
the label of a node, while the name of a node remains the same. A useful

analogy is treedist = label:elernent = nodezposition.

Example 3.4. Figure 3.7 shows a labeled tree representing the arithmetic

expression (rt-Hr) 1' (n+cJ, where m, . . . ,n; are the names of the nodes,
and the labels, by convention, are shown next to the nodes. The rules

whereby a labeled tree represents an expression are as follows:

i. Every leaf is labeled by an operand and consists of that operand alone.
For example, node (:4 represents the expression a.

2. Every interior node n is labeled by an operator. Suppose I: is labeled by a

binary operator 9, such as + or 1-, and that the leit child represents
expression E, and the right child E1. Then it represents expression
[E1) 9 (El). We may remove the parentheses if they are not necessary.

For example, node n; has operator +, and its left and right children
represent the expressiuns a and b, respectively. Therefore. n; represents
(a)+[b). or just a+b. Node rt. represents {a+b}*(e+c), since * is the label

12

 

 



 

 

 
 

 
 
 
 
 

 
 
 
  

 
 

 
 

3.1 BASiC TERMINOLOGY 81

at m, and a+b and a+c are the expressions represented by n; and n3, respec-
tively. E!

 
Fig. 3.7. Expression tree with labels.

Often, when we produce the preorder, inorder, or postorder listing of a
tree, we prefer to list not the node names, but rather the labels. in the case

of an expression tree, the preorder listing of the labels gives us what is known
as the prefix form of an expression, where the operator precedes its left
operand and its right operand. To be precise, the prefix expression for a sin-
gle operand a is a itself. The prefix expression for (E1) 9 (E2), with 0 a

binary operator, is BPIPz, where P, and P2 are the prefix expressions for E l
and E2. Note that no parentheses are necessary in the prefix expression, since
we can scan the prefix expression BPIP; and uniquely identify P, as the shor-
test (and only) prefix of P1P; that is a legal prefix expression.

For example, the preorder listing of the labels of Fig. 3.7 is *+ab+ac.

The prefix expression for n2, which is +ab, is the shortest legal prefix of
+ab+ac.

Simiiarly, a postorder listing of the labels of an expression tree gives us
what is known as the postfix (or Polish) representation of an expression. The
expression (E1) 6 (E1) is represented by the postfix expression PIPZB, where

P1 and P2 are the postfix representations of E1 and E2, respectively. Again,
no parentheses are necessary in the postfix representation, as we can deduce
what P2 is by looking for the shortest suffix of P1P; that is a legal postfix

.. expression. For example, the postfix expression for Fig. 3.7 is ab+ac+*. If
-...we write this expression as P1P2*, then P2 is ac+, the shortest suffix of

ab +ac+ that is a legal postfix expression.
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82 TR [£35

The inorder traversal of an expression tree gives the infix expression

itself, but with no parentheses. For example. the inorder listing of the labels
of Fig. 3.7 is a+b * nine. The reader is invited to provide an algorithm for
traversing an expression tree and producing an infix expression with all
needed pairs of parentheses.

Computlng Ancestral Information

The preorder and postorder traversals of a tree are useful in obtaining ances-

tral information. Suppose poster-dam) is the position of node n in a post-
order listing of the nodes of a tree. Suppose desctn) is the number of preper
descendants of node rt. For example. in the tree of Fig. 3.7 the pastorder
numbers of nodes #2. n... and n, are 3. l. and 2. respectively.

The postorder numbers assigned to the nodes have the useful property
that the nodes in the subtrec with root n are numbered consecutively from
pastorder(n) — datum) to posrordertn). To test if a vertex .1: is a descenth
of vertexy, all we need do is determine whether

pn:tnrder[y)~—desc(y) '5 postordertx) E postorder(y).

A similar property holds for preorder.

3.2 The ADT TREE

In Chapter 2. lists. stacks, queues. and mappings were treated as abstract data
types (ADT’s). In this chapter trees will be treated both as ADT's and as
data structures. One of our most important uses of trees occurs in the design

of implementations for the various ADT‘s we study. For example. in Section
5.1. we shall see how a "binary search tree" can be used to implement
abstract data types based on the mathematical model of a act. together with
operations such as INSERT, DELETE. and MEMBER (to test whether an
element is in a set). The next two chapters present a number of other tree
implementations of various ADT‘s.

In this section. we shall present several useful operations on trees and

show how tree algorithms can be designed in terms of these operations. As
with lists. there are a great variety of operations that can be performed on
trees. Here, we shall consider the following operations:

I. PARENTtn. T). This function returns the parent of node n in tree T. If

n is the root. which has no parent, A is returned. In this context. A is a
“null node." which is used as a signal that we have navigated off the tree.

2. LEFTMOSTFCHILDQ. T) returns the leftmost child of node rt in tree T,
and it returns A if n is a leaf. which therefore has no children.

3. RIGHT_SIBLING(n. T) returns the right sibling of node n in tree T,
defined to be that node in with the same parent p as n such that m lies

immediatelyr to the right of n in the ordering of the children of p. For
example. for the tree in Fig. 3.7. LEFTMDSTgCHILDtnz) 5 n4;
RIGHTflSIBLINGmt) = as. and RlGH'LSlBLING (as) = A.

14

 

 



 

 

3.2 THE ADT TREE 33

4. LABELUI, T) returns the label of node n in tree T. We do not, however,

require labels to be defined for every tree.

5. CREATEi(v, T1. T2, . . . ,T;) is one of an infinite family of functions,
one for each value oft" 0, l, 2, . . .. CREATEi makes a new node r

with label v and gives it 1' children, which are the roots of trees
T1, T2, . . . ,7}, in order from the left. The tree with root r is returned.
Note that if i = 0, then r is both a leaf and the root.

6. ROOT(T) returns the node that is the root of tree T, or A if T is the null
tree.

7. MAKENULLlT) makes T be the null tree.

ll

Example 3.5. Let us write both recursive and nonrecursive procedures to take
a tree and list the labels of its nodes in preorder. We assume that there are

data types node and TREE already defined for us, and that the data type
TREE is for trees with labels of the type labeltype. Figure 3.8 shows a recur-
sive procedure that, given node n, lists the labels of the subtree rooted at n in
preorder. We call PREORDER(ROOT(T}) to get a preorder listing of tree T.

procedure PREORDER ( n: node );
{ list the labels of the descendants of n in preorder }
var

6: node;

begin
print(LABEL(n, T));
c := LEFTMOST_CHILD(n, T);

while 0 <> A do begin
PREORDER(c);
c := RIGHT_SIBLING{C, T)

end

end; { PREORDER }

Fig. 3.8. A recursive preorder listing procedure.

We shall also develop a nonrecursive procedure to print a tree in
preorder. To find our way around the tree, we shall use a stack S, whose
type STACK is really “stack of nodes." The basic idea underlying our algo-
rithm is that when we are at a node n, the stack will hold the path from the

root to n, with the root at the bottom of the stack and node n at the top.'l'

1‘ Recall our discussion of recursion in Section 2.6 in which we illustrated how the implementation
of a recursive procedure involves a stack of activation records. If we examine Fig. 3.8, we can
observe that when PREORDERUI) is called, the active procedure calls, and therefore the stack of
activation records, correspond to the calls of PREORDER for all the ancestors of n. Thus our
nonrecursive preorder procedure, like the example in Section 2.6, models closely the way the re-

' cursive procedure is implemented.

 

 



 
 

84 TREES

One way to perform a nonrecursive preorder traversal of a tree is given
by the program NPREORDER shown in Fig. 3.9. This program has two
modes of operation. In the first mode it descends down the leftmost unex-

plored path in the tree,‘ printing and stacking the nodes along the path, until it
reaches a leaf.

The program then enters the second mode of operation in which it retreats
back up the stacked path, popping the nodes of the path off the stack, until it
encounters a node on the path with a right sibling. The program then reverts

back to the first mode of operation, starting the descent from that unexplored
right sibling. _

The program begins in mode one at the root and terminates when the
stack becomes empty. The complete program is shown in Fig. 3.9.

3.3 Implementations of Trees

In this section we shall present several basic implementations for trees and dis-
cuss their capabilities for supporting the various tree operations introduced in
Section 3.2.

An Array Representation of Trees

Let T he a tree in which the nodes are named l, 2. . . . ,n. Perhaps the sim-
plest representation of T that supports the PARENT operation is a linear
array A in which entry A[t‘] is a pointer or a cursor to the parent of node i. .
The root of T can be distinguished by giving it a null pointer or a pointer to
itself as parent. in Pascal, pointers to array elements are not feasible, so we
shall have to use a cursor scheme where AU] = j if node j is the parent of
node i, and A[i] = 0 if node t' is the root.

This representation uses the property of trees that each node has a unique
parent. With this representation the parent of a node can be found in con-

stant time. A path going up the tree, that is, from node to parent to parent,
and so on, can be traversed in time proportionai to the number of nodes on

the path. We can also support the LABEL operator by adding another array
L, such that LU] is the label of node 1', or by making the elements of array A
be records consisting of an integer (cursor) and a label.

Example 3.6. The tree of Fig. 3.10(a) has the parent representation given by
the array A shown in Fig. 3.10(b). [J

The parent pointer representation does not facilitate operations that
require child-of information. Given a node n, it is expensive to determine the
children of n, or the height of n. In addition, the parent pointer representa-
tion does not specify the order of the children of a node. Thus, operations
like LEFTMOST_CHILD and RIGHT_SIBLING are not well defined. We

could impose an artificial order, for example, by numbering the children of

each node after numbering the parent, and numbering the children in

16

 



 
 

3.3 IMPLEMENTATIONS OF TREES 85

procedure NPREORDER ( T: TREE );

{ nonrecursive preorder traversal of tree T }
var

m: node; { a temporary }

S: STACK; { stack of nodes holding path from the root
to the parent TOP(S) of the "current” node m }

begin

{ initialize }
MAKENULL{S);
m := ROOT(T);

while true do

if m <> A then begin
print(LABEL(m, T));
FUSE-Hm, S);

{ explore leftmost child of m }
m := LEFTMOST_CHILD(m, T)

end

else begin

{ exploration of path on stack
is now complete }

if EMPTY(S) then
return;

{ explore right sibling of node
on top of stack }

m := RIGHT_SIBLING(TOP(S), T);
POP(S)

end

end; {NPREORDER}

Fig. 3.9. A nonrecursive preorder procedure.

increasing order from left to right. On that assumption, we have written the
_ 'function RIGHTHSIBLING in Fig. 3.1t, for types node and-TREE that are

- defined as follows:

type

node = integer;
TREE = array [1..maxnodes] of node;

" For this implementation we assume the null node A is represented by O.
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/\3
/\ 9/ \0

(a) a tree

12345678910

A “III-III“.-

(b) parent representation

Fig. 3.10. A tree and its parent pointer representation.

function RIGHT__SIBLING ( n: node; T: TREE ) : node;

{ return the right sibling of node n in tree T }
'var

1', parent: node;
begin

parent := T[n1;
for i := n + 1 to maxnodes do

{ search for node after H with same parent }
if T[i] = parent then

return (i); 7

return (0) { null node will be returned
if no right sibling is ever found }

end; { RIGHT_SIBL[NG }

Fig. 3.11. Right sibling operation using array representation.

18
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Representation of Trees by Lists of Children

An important and useful way of representing trees is to form for each node a
list of its children. The lists can be represented by any of the methods sug-

gested in Chapter 2, but because the number of chiidren each node may have
can be variable, the linked-list representations are often more appropriate.

Figure‘3.12 suggests how the tree of Fig. 3.10(a) might be represented.

There is an array of header cells, indexed by nodes, which We assume to be
numbered 1, 2, . . . .10. Each header points to a linked list of “elements,”
which are nodes. The elements on the list headed by headerli] are the chil-

dren of node i; for example, 9 and 10 are the children of 3.

 
header

Fig. 3.12. A linked-list representation of a tree.

Let us first deveiop the data structures we need in terms of an abstract

data type LIST (of nodes), and then give a particular implementation of lists
and see how the abstractions fit together. Later, we shall see some of the

simplifications we can make. We begin with the following type declarations:

type
node = integer;

LIST = { appropriate definition for list of nodes };
position = { appropriate definition for positions in lists };
TREE = record

header: array [1..maxnodes] of LIST;
labels: array [l..maxn0des] of labeltype;
root: node

end; '

l9
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We assume that the root of each tree is stored explicitly in the root field.
Also. 0 is used to represent the null node.

Figure 3.13 shows the code for the LEFTMDS’LCHILD operation. The
reader should write the code for the other operations as exercises.

lhnetlon LEFTMDS'LCHILD ( n: node; T: TREE J : node;
{ returns the leftmost child of node n of tree T J-
var

L: LIST: { shorthand for the list of n‘s children }
hesit-

L := T.heoder[n];

HEMPI'YG.) then {it is a leaf}
return (0)

else

return (asramvsmsmt J. L n

end; {LEFTMOSLCHILD}

Fig. 3.13. Function to find leftmost child.

Now let us choose a particular implementation of lists. in which both LIST
and position are integers. used as cursors into an array cellspace of rewrds:

var

cellspaee: array [l..mamdzs] 0! record
node: integer;
next: integer

end;

To simplify, we shall not insist that lists of children have header cells.
Rather. we shall let T.header [n] point directly to the first cell of the list. as is
suggested by Fig. 3.12. Figure 3.l4(a) shows the function
LEFI‘MOS'LCHILD of Fig. 3.13 rewritten for this specific implementation.
Figure 3.1400) shows the operator PARENT. which is more dlffimlt to write
using this representation of lists. since a search of all lists is required to deter-
mine on which list a given node appears.

The Minuet-Child, Right-Sibling Representation

The data structure described above has. among other shortcomings. the inabil-

ity to create large trees from smaller ones. using the CREATEI' operators.
The reason is that. while all trees share cellspece for llnlted lists of children.

each has its own array of headers for its node-s. For example. to implement
CREATEZUJ. 3",. 1’3] we would have to copy '1", and T1 into a third tree and
add a new node with label v and two children — the roots of T1 and T3.

If we wish to build trees from smaller ones. it is best that the representa-
tion of nodes from all trees share one area. The logical extension of Fig. 3.12
is to replace the header array by an array underpass consisting of records with

20
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function LEFTMOST_CH1LD { )1: node; T: TREE ) : node;

{ returns the leftmost child of node n on tree T }
var

L: integer; { a cursor to the beginning of the list of n's children }
begin

L := TJrenderfnl;

ifL = D then {H is a leaf}
return (0]

else

return [relispncelenode]
end; { LEFTMOSLCHILD }

(a) The function LEFI‘MOS’I'_CHILD.

function PARENT ( :1: node; T: TREE. ) : node;

{ returns the parent of node n in tree T}
var

p: node; { runs through possible parems of n _}

i: position; { runs down list of p‘s children }
begin

for p := l to wander do begin
1' := T.header[p];
while E <> 0 do { see if n is among children ofp }

il‘ ceuspacelijnode = n then
return (11}

else

i := refispace[i].nexr
end;

return [0} { return null node if parent not found 1

end; { PARENT I»

(b) The function PARENT.

Fig. 3.14. Two functions using linked-list representation of trees.

two fields label and header. This array will hold headers for a” nodes of all
' 'Lreea. Thus, we declare

var

nodespnce: array [1..maxrmdesl of record

tubal: labeltype;
header: Integer { cursor to ceilspace }

end;

Then. since nodes are no longer named 1. 2, . . . ,n, but are represented by
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arbitrary indices. in nodes'poce, it is no longer feasihle for the field node of
cells-pace to represent the “number" of a node; rather, node is now a cursor

into underpass. indicating the position of that node. The type TREE is simply
a cursor into uodespoce. indicating the position of the root.

Example 3.7. Figure 115(3) shows a tree. and Fig. 3.l5(h) shows the data

structure where we have placed the nudes labeled A. B, C, and D arbitrarily
in positions 10. 5, 11, and 2 of nodespoce. We have also made arbitrary
choices for the cells of cellspoce used for lists of children. D

  
label header  

(a) Tree T
uoa‘espttce

cellspcce

(b) Data structure

Fig. 3.15. Another linked—list structure for trees.

The structure of Fig, 3. 15(11) is adequate to merge trees by the CREATE!‘
operations. This data structure can be significantly,r simplified. however.
First, observe that the chains of next pointers in reliance are really right-

sihling pointers.
Using these pointers, we can obtain leftmost children as follows. Ehrppose

cellspaceiiluode = u. (Recall that the ”name“ of a node, as opposed to its
label, is in effect its index in nodeSpoCe. which is what celispocetr‘].node gives
us.) Then nuderpoceln].header indicates the cell for the leftmost child of n in
cellapace, in the sense that the node field of that cell is the name of that node
in underpoce.

We can simplify matters if we identify a node not with its index in

22
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nadeSpace. but with the index of the cell in eeibpace that represents it as a
child. Then, the next pointers of eeHspace truly point to right siblings, and
the information contained in the nodespace array can be held by introducing a
field ieftmaJLchild in celirpace. 'l‘he datatype TREE becomes an integer used
as a cursor to ceilspace indicating the root of the tree. We declare cellspnee
to have the following structure.

var

ceflspace: array [1..maxnoder] (If record
._ label: labellype;

-_._..__ leftmoch-hild: integer;
rigthiblt'ng: integer

end;

 

 
 

Example 3.8. The tree of Fig. 3,1561) is represented in our new data struc-
ture in Fig. 3.16. The same arbitrary indieea as in Fig. 3.15“!) have been
used for the nodes. El

  
lefrmosr label night

child sibling
ceilspaee

Fig. 3.16. Leftmost-child, right-sibling representation of a tree.

All operations but PARENT are straightforward to implement in the
Ileftrnest-ehild, right-sibling representation. PARENT requires searching the

'- entire campers. If we need to perform the PARENT operation efficiently, we
.9311 add a fourth field to cellspace to indicate the parent of a node directly.

As an example of a tree operation written to use the leftmost-child, right-

23
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sibling structure as in Fig. 3.16, we give the function CREATE2 in Fig. 3.17.
We assume that unused cells are linked in an available space list, headed by
avail, and that available cells are linked by their right—sibling fields. Figure
3.l8 shows the old (solid) and the new (dashed) pointers.

function CREATEZ ( v: labeltype; T1, T2: integer ) : integer;
{ returns new tree with root v, having T1 and T2 as subtrees }
var

temp: integer; { holds index of first available cell
for root of new tree }

begin
temp := avail;
avail :== cellspace [avail ].rt’ght_nsibling;

cellspace [temp ] . leftmochhild := T l ;
cellspace[temp].label := v;

cellspacehemp].right_sib1ing 1= 0;
cellspace [Tl ] .right_sibling :-—= T2;
cellspace[T2].rt'ght_sib[ing := 0; { not necessary;

_ that field should be 0 as the cell was formerly a root }
return (temp)

end; { CREATEZ }

Fig. 3.17. The function CREATEZ.

  
 

set to null

Fig. 3.18. Pointer changes produced by CREATEZ.

Alternatively. we can use less space but more time if we put in the right-
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sibling field of the rightmogt child a pointer to the parent, in place of the null
pointer that would otherwise be there. To avoid confusion, we need a bit in
every cell indicating whether the right-sibling field holds a pointer to the right
sibling or to the parent.

Given a node. we find its parent by following right—sibling pointers until
we find one that is a parent pointer. Since all siblings have the same parent.
we thereby find our way to the parent of the node we started from. The time
required to find a node's parent in this representation depends on the number
of siblings a node has.

3.4 Binary Trees

The tree we defined in Section 3.] is sometimes called an ordered, oriented

tree because the children of each node are ordered from lei't-to~right. and

because there is an oriented path (path in a particular direction) from every
node to its descendants. Another useful, and quite different, notion of “tree"
is the binary tree, which is either an empty tree, or a tree in which every node
has either no children, a left child, a right child. or both a left and a right
child. The fact that each child in a binary tree is designated as a left child or

as a right child makes a binary tree different from the ordered, oriented tree
of Section 3. l.

Example 3.9. If we adopt the convention that left children are drawn extend-
ing to the left, and right children to the right. then Fig. 3.19 (a) and (h)
represent two different binary trees, even though both ”look like" the ordia
nary (ordered, oriented) tree of Fig. 3.20. However. let us emphasize that
Fig. 3.19(a) and [b] are not the same binary tree. nor are either in any sense
equal to Fig. 3.20, for the simple reason that binary trees are not directly
comparable with ordinary trees. For example, in Fig. 119(3), 2 is the left
child of 1, and 1 has no right child, while in Fig. 3.19t'b), 1 has no left child
but has 2 as a right child. in either binary tree. 3 is the left child of 2, and 4
is 2'5 right child. IT!

The preorder and poslorder listings of a binary tree are similar to those of
an ordinary tree given on p. la. The inorder listing of the nodes of a binary
tree with root it, left subtrce T J and right subtree l"; is the inorder listing of T.
followed by it followed by the inorder listing of T1. For example, 3524] is the
inorder listing ofthe nodes of Fig. 119(3).

- Representing Binary Trees

A convenient data structure for representing a binary tree is to name the
nodes 1. 2. . . . .n, and to use an array of records declared

var

ceiispace: array ll..maxnode.r] of record
teftchild: integer;
righrchiid: integer

end;

25
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/\ /\
\5 5/

Fig. 3.19. Two binary trees.

1

I
2

/\

I". 4
5

Fig. 3.20. An “ordinary" tree.

 
The intention is that ceilspacelilieflchiid is the left child of node i. and

rightchfld is analogous. A value of 0 in either field indicates the absence of a
child.

Example 3.1!]. The binary tree of Fig.- 3.19(a) can be represented as shown in
Fig. 3.21. D

An Example: Huffman Codes

Let us give an example of horar binary trees can be used as a data structure.
The particular problem we shat] consider is the construction of ”Huffman
codes." Suppose we have messages consisting of sequences of characters. In

each message, the characters are independent and appear with a known 
26
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1e can

 Lac-enro—
Fig. 3.2.]. Representation of a binary tree. 

 

 

 
 
 
 
 
 

 
 

 

 

probability in any given position; the probabilities are the same for all posi-
tions. As an example, suppose we have a message made from the five charac-

ters o. b, r, d, e, which appear with probabilities .12, .4, .15. .08. .25,
reapectively.

We wish to encode each character into a sequence of 0‘s and ['5 so that

no code for a character is the prefix of the code for any other character. This
prefix property allows us to decode a string of 0's and l’s by repeatedly delet—
ing prefixes of the string that are codes for characters.

Example 3.1]. Figure 3.22 shows two possible codes for our five symbol
alphabet. Clearly Code I has the prefix properly, since no sequence of three
bits can be the prefix of another sequence of three hits. The decoding algo-
rithm for Code 1 is simple. Just “grab" three bits at a time and translate each
group of three into a character. 01' course, sequences [0], 1H), and in are
impossible. if the string of bits really codes characters according to Code 1.
For example. if we receive Ofllfllflnll we know the original message was bcd.

S mhol Probabilit Code 1 Code 2

   ll
0]
00]
10

cameo-o
Fig. 3.22. Two binary codes.

It is easy to check that Code 2 also has the prefix property. We can
decode a string ol~ bits by repeatedly “grabbing" prefixes that are codes for
characters and removing them, just as we did for Code 1. The only difference

is that here. we cannot slice up the entire sequence of hits at once, because
_-Whether we take twu or three bits for a character depends on the bits. For

example, if a string begins 1101001, we can again be sure that the characters
coded were bed. The first two bits. I]. must have come from b, so we can

27
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remove them and worry about 01001. We then deduce that the bits 01 came
from c, and so on. D

The problem we face is: given a set of characters and their probabilities,
find a code with the prefix property such that the average length of a code for

a character is a minimum. The reason we want to minimize the average code
length is to compress the length of an average message. The shorter the aver-
age code for a character is, the shorter the length of the encoded message.
For example, Code i has an average code length of 3. This is obtained by

multiplying the length of the code for each symbol by the probability of
occurrence of that symbol. Code 2 has an average length of 2.2, since sym-
bols a and d, which together appear 20% of the time, have codes of length
three. and the other symbols have codes of length We.

Can we do better than Code 2? A complete answer to this question is to
exhibit a code with the prefix property having an average length of 2.15. This
is the best possible code for these probabilities of symbol occurrences. One

technique for finding optimal prefix codes is called Hufman’s algorithm. It
.works by selecting two characters a and b having the lowest probabilities and
replacing them with a single (imaginary) character, say at, whose probability of
occurrence is the sum of the probabilities for a and b. We then find an
optimal prefix code for this smaller set of characters, using this procedure

recursively. The code for the original character set is obtained by using the
code for x with a D appended as the code for a and with a l appended as a
code for b.

We can think of prefix codes as paths in binary trees. Think of following
a path from a node to its left child as appending a 0 to a code, and proceeding

from a node to its right child as appending a 1. If we label the leaves of a
binary tree by the characters represented, we can represent any prefix code as
a binary tree. The prefix property guarantees no character can have a code
that is an interior node, and conversely, labeling the leaVes of any binary tree
with characters gives us a code with the prefix property for these characters.

Example 3.12. The binary trees for Code I and code 2 of Fig. 3.22 are
shown in Fig. 3.23(a) and (b), respectively. B

We shall implement Hoffman's algorithm using a forest {collection of
trees), each of which has its leaves labeled by characters whose codes we

desire to select and whose roots are labeled by the sum of the probabilities of
all the leaf labels. We call this sum the weight of the tree. Initially, each

character is in a one-node tree by itself, and when the algorithm ends, there
will be only one tree, with all the characters at its leaves. In this tree, the
path from the root to any leaf represents the code for the label of that leaf,
according to the left = 0, right = 1 scheme of Fig. 3.23.

The essential step of the algorithm is to select the two trees in the forest
that have the smallest weights (break ties arbitrarily). Combine these tWo
trees into one, whose weight is the sum of the weights of the two trees. To

combine the trees We create a new node, which becomes the root and has the
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Fig. 3.23. Binary trees representing codes with the prefix property.

roots of the two given trees as left and right children (which is which doesn‘t
matter}. This process continues until only one tree remains. That tree
represents a code that, for the probabilities given, her: the minimum possible
average code iengt h.

Example 3.13. The sequence of steps taken for the characters and probabili—
ties in our running example is shown in Fig. 3.24. From Fig. 3.24(e) we see
the code words for a. b. c, d, and e are Ill]. 0, 110, [110. and 10. In this
example, there is only one nontrivial tree, but in general, there can be many.

For example. if the probabilities of b and H were .33 and .32, then after Fig.
3.246;) we would combine b and 9, rather than attaching e to the large tree as

we did in Fig. 3.24M). I]

Let us now describe the needed data structures. First. we shall use an

array TREE of records of the type

record

teflchr'td: integer;
rightchiid: integer;
parent: integer

end

to represent binary trees. Parent pointers facilitate finding paths from leaves
to roots. so we can discover the code for a character. Second, we use an

array ALPHABET of records of type

record

symbol: char;
probability: real;
leaf: integer { cursor into tree }

end

29
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.3 S .60
.40 .25 .40

r: . . e .
b e b

d a 1 .00 e
d a

(d) Merge a. e , d with e

d a

(a) Final tree

Fig. 3.24. Steps in the construction of a Huffman tree.

each symbol of the alphabet being encoded. its correspond-
probabiliiy of each character. Third, we

he trees themselves. The

to associate, with

ing leaf. This array also records the
need an array FOREST of records thai represent i
type of these records is

record

weighr: real:
root: integer {cursor into tree }

end

the data of Fig. 3.2401), arethese arrays. assuming
o build the Huffman tree isThe initial values of all

sketch of the program 1
shown in Fig. 3.25. A
shown in Fig. 3.26.
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weight root symbol pmh- lea," left- right- parent

ability Child mm

FOREST ALPHABET TREE

Fig. 3.25. Initial contents of arrays. (1) while there is more then one tree in the forest do

begin
(2) r' := index of the tree in FOREST with smallest weight:

(3) j '.= index of the tree in FOREST with second smallest weight;
(4) create a new node with left child FORESTli].roor and

right child FORESTU].roat;
(5) replace tree r' in FOREST by a tree whose root

is the new node and whose weight is
FOREST{tbs-eight + FOREST[j].weight;

(6) delete tree j from FOREST
end;

Fig. 3.26. Sketch of Huffman tree construction.

_ To implement line (4] of Fig. 3.26, which increases the number of cells of
the TREE array used. and lines [5) and (6), which decrease the number of
utilized cells of FOREST, we shall introduce cursors Insure-e and lastnode.

pointing to FOREST and TREE. respectively. We assume that cells 1 to last-
tree of FOREST and l to {asrnode of TREE are eecupied.T We assume that

- arrays of Fig. 3.25 have some declared lengths. but in what follows we omit
comparisons between these limits and cursor values.

1' For the data reading phase. which we omit. we also need It cursor for the array ALPHA-
ET as it fills with symbols and their probabilities.
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prooedure iightones ( var least, second: integer }:
{ sets least and second to the indices in FOREST of

the trees of smallest weight. We assume lasttree E2. }
var

1': integer:
begin { initialize [east and second, considering first two trees }

if FOREST[l].wet'ght C.= FOREST[2}.weight then
begin tens: := 1; second :I 2 end

else

begin tens: := 1: second := 1 end;
{ Now let i run from 3 to iasttree. At each iteration

teas: is the tree of smallest weight among the first i trees
in FflREST. and second is the next smallest of these }

for i := 3 to insures do

HFUREST{I'].weight < FOREST[teost].weight then
begin second := least; feast := i end

else ifFORESHt'LweI‘ghr < FORESTlsecondl.weight then
senond := 1'

end; {h‘ghrones}

function create I: ieflrree, righrtree: integer J : integer;
{ returns new node whose left and right children are

FORESTIIefideoor and FGRESTirighttree].root }
begin

tostnode :== iostoode + l;

{ cell for new node is TREE[tasmode] }
TREEllashwdEIJefichfld := FORESTllefrtrenlJoot;

TREE[iastnodelmighrckfld := FOREST{righttree] . root;

{ now enter parent pointers for new node and its children }
TREEliflsmode].porent := D;
TREE[FOREST[iefitree] . root] .parent := iostnode;

TREEIFORESTlrighnreeIJ-aot].parem := iostnode;
return (insureds)

end; { create }

 
Fig. 3.27. Two procedures.

Figure 3.2? shows two useful procedures. The first implements lines {2}

and [3) of Fig. 3.26 to select indices of the two trees of smallest weight. The
second is the command createtnh :12) that creates a new node and makes It;
and 313 its left and right children.

Now the steps of Fig. 3.26 can he described in greater detail. A pro-
cedure Emotion, which has no input or output, but works on the global struc-
tures of Fig. 3.25. is shown in Fig. 3.28.
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procedure Huffman;
var

t', j: integer; { the two trees of least weight in FOREST}
newroot: integer;

begin

while lastrree > I do begin
lightones(l, j);
newroo! := create“, j);

{ Now replace tree 1' by the tree whose root is newroot }
FOREST[1'].wet'ght z= FOREST[i].weight + FORESTU1.weight;
F0REST[1'].mor := newroot;

{ next, replace tree j, which is no longer needed, by lastrree,
and shrink FOREST by one }

FORESTU] := FORESTUastrr-ee];
lasrtree :2 lasttree - 1

end

end; {Huffman }

 
Fig. 3.28. Huffman's algorithm.

 
Figure 3.29 shows the data structure of Fig. 3.25 after lastrree has been

reduced to 3, that is, when the forest looks like Fig. 3.24(c).

weight root

FOREST symbol prob- leaf
ability

ALPHABET . right— parent
child child

TREE 
Fig. 3.29. Tree data structure after two iterations. 
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After completing execution of the algorithm. the code For each symbol can

be determined as follows. Find the symbol in the symbol field of the ALPHA-
BET array. Follow the Jeqf field of the same record to get to a record of the .1}.
TREE array; this record corresponds to the leaf for that symbol. Repeatedly if;

follow the parent pointer from the “current" record. say for node n, to the 3;.
record of the TREE array for its parent p. Remember node n. so it is possible "
to examine the lefrchild and rightchild pointers'for node p and see which is n.
In the former case, print 0, in the latter print I. The sequence of hits printed
is the code for the symbol, in reverse. if we wish the bits printed in the

correct order, we could push each onto a. stack as we go up the tree. and then
repeatedly pop the stack. printing symbols as we pop them.

Pointer-Based Implementations of Binary Trees

Instead of using cursors to point to left and right children (and parents if we
wish), we can use true Pascal pointers. For example. we might declare

type _
node = record

isflchild: 1 node;
righrckild: tnode;
parent: 1 node

end

For example, if we used this type for nodes of a binary tree, the function
create of Fig. 3.27 could be written as in Fig. 330.

function create { Iefltree. rightrree: mode) 2 mode;
var

root: 1 node;

begin
mewiraor);

root tieflchild := lefttree:
root 1. rightchiid := rt‘glmree :
mortparem := O;

tejhreet.parem :== root;
rl'ghttree Lparem := mot;
return (root)

and; { create }

fig. 3.30. Pointer-based implementation of binary trees.
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Exercises

3.] Answer the following questions about the tree of Fig. 3.3].
a) Which nodes are leaves?

h't Which node is the root?

c) What is the parent of node C?

d) Which nodes are children of C?
e“: Which nodes are ancestors of E?

f) Which nodes are descendants of E?

g} What are the right siblings of D and E?

h} Which nodes are to the left and to the right of G‘?

i} What is the depth of node C?

j) What is the height of node C?  
/\ /l\

l Al

Fig. 3.31. A tree.

3.2 In the tree of Fig. 3.31 how many different paths of length three are
there?

3.3 Write programs to compute the height of a tree using each of the
three tree representations of Section 3.3.

3.4 List the nodes of Fig. 3.31 in

a) preorder,
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3.5

3.6

3.7

3.9

TB. EES

b) postorder, and

c} inorder.

If m and it are two different nodes in the same tree, Show that exactly
one of the following statements is true:

a) m is to the left of n

b) m is to the right oft-t

c} m is a proper ancestor of n

d) m is a proper descendant of n.

Place a check in row t' and column j if the two conditions represented
by row 1' and column f can occur simultaneously.

preorder(n} inordert rt) postordert rt}
4 preordedm) < {harder-(m) c: porrorderEm}

n is to the
left of m

is to the

right of m

H is a proper
ancestor of m

n is a proper
descendant of m

For example. pot a check in row 3 and column 2 if you believe that n

can be a proper ancestor of m and at the same time it can precede m
in inorder.

Suppose we have arrays PREDRDERIH], tNORDEth-tl. and
PDS'I‘URDERIHJ that give the preorder, inordet. and postorder posh
tions, respectively, of each node n of a tree. Describe an algorithm
that tells whether node r' is an ancestor of node j, for any pair of
nodes 1' and j. Explain why your algorithm works.

We can test whether a node or is a proper anoestor of a node at by

testing whether in precedes n in X-order but follows it in Y-order.
where X and Y are chosen from {pre. post, in}. Determine all those
pairs X and Y for which this statement holds.

Write programs to traverse a binary tree in

a) preorder,

b} postorder.

c) inorder.
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3.111

3.11

3.12

3.13

3.14

3.15

3.16

3.17

3.18

The level-order listing of the nodes of a tree first lists the root. then
all nodes of depth I. then nil nodes of depth 2. and so on. Nodes at

the same depth are listed in Iel't-to-right order. Write a program to
list the nodes of a tree in level»order.

Convert the expression ({a+b) + c * (d+e} + f) * (3 Hr) to a

a] prefix expression

b) postfix expression.

Draw tree representations for the prefix expressions

:1) *o + b *c + de

b) *0 + *b + ode

Let T be a tree in which every nonleaf node has two children. Write
a program to convert

a] a preorder listing of T into a postorder listing,

b) a postorder listing of T into a preorder listing.

:1 a preorder listing of T into an inorder listing.

Write a program to evaluate

a) preorder

b) pastor-tier

arithmetic expresaions.

We can define a binary tree as an ADT with the binary tree structure
as a mathematical model and with operations such as
LEFTCHILD(H}. RIGI-tTCHlLD(n), PARENTUQ. and NULLfn).

The first three operations return the left child. the right child. and the
parent of node n (A if there is none) and the last returns true if and

only if n is A. Implement these procedures using the binary tree
representation of Fig. 3.21.

Implement the seven tree operations of Section 3.2 using the following
tree implementations:

a) parent pointers
b) lists of children

c) leftmost-child. right-sibling pointers.

The degree of a node is the number of children it has. Show that in
any binary tree the number of leaves is one more than the number of
nodes of degree two.

Show that the maximum number of nodes in a binary tree of height h
is 2"”“1. A binary tree of height h with the maximum number of
nodes is called afutl binary tree.
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106 TREES

*3.” Suppose trees are implemented by leftmost-child, right-sibling and
parent pointers. Give nonreeursive preorder. postorder. and inorder
traversal algorithms that do not use "states" or a stack, as Fig. 3.9
does.

3.20 Suppose characters a, b.c,d, 8,)“ have probabilities .01 .09. .l2.
.22. .23, .27, respectively. Find an optimal Huffman code and draw

the Huffman tree. What is the average code length?

t£5.21 Suppose T is a Huffman tree, and that the leaf for symbol a has
greater depth than the leaf for symbol b. Prove that the probability
of symbol 2: is no less than that of a.

$3.22 Prove that Hoffman‘s algorithm works, i.e., it produces an optimal
code for the given probabilities. Hint: Use Exercise 3.21.

Bibliographic Notes

Berge [1958] and Harary [1969} discuss the mathematical properties of trees.
Knuth [1973} and Nicvergelt [19le contain additional information on binary
Search trees. Many of the works on graphs and applications referenced in
Chapter 6 also cover material on trees.

The algorithm given in Section 3.4 for finding a tree with a minimal
weighted path length is from Huffman [1952]. Parker [1980] gives some more
recent explorations into that algorithm.
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CHAPTER 5

Advanced

Set

Representation

Methods

This chapter introduces data structures for sets that permit more efficient
implementation of common collections of set operations than those of the pre—
vious chapter. These structures, however, are more complex and are often
only appropriate for large sets. All are based on various kinds of trees. such
as binary search trees, tries, and balanced trees.

5.] Binary Search Trees

We shall begin with binary search trees, a basic data structure for representing
sets whose elements are ordered by some linear order. We shall, as usual,
denote that order by <. This structure is useful when we have a set of ele-
ments from a universe so large that it is impractical to use the elements of the

set themselves as indices into arrays. An example of such a universe would
be the set of possible identifiers in a Pascal program. A binary search tree
can support the set operations INSERT. DELETE, MEMBER, and MIN, tak-

ing 0(iogn) steps per operation on the average for a set of n elements.
A binary search tree is a binary tree in which the nodes are labeled with

elements of a set. The important property of a binary search tree is that all
elements stored in the left subtree of any node x are all less than the element

stored at x. and all elements stored in the right subtree ofx are greater than
the element stored at x. This condition, called the binary search tree property.
holds for every node of a binary search tree, including the root.

Figure 5.] shows two binary search trees representing the same set of
integers. Note the interesting property that if we list the nodes of a binary
search tree in inorder, then the elements stored at those nodes are listed in
sorted order.

Suppose a binary search tree is used to represent a set. The binary search
tree property makes testing for membership in the set simple. To determine
whether J.‘ is a member of the set. first compare it with the element r at the
root of the tree. If x = r we are done and the anSWer to the membership
query is “true." If x < r, then by the binary search tree property. x can only
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10 15

5/ \14 14// \18
\7 1/ \13 5/

15/ \w
7/ \12

(a) (b)

Fig. 5.1. Two binary search trees.

he a descendant of the left child of the root, if x is present at all)? Similarly,
if x > r. then I could only he at a descendant of the right child of the root.

We shall write a simple recursive function MEMBERtx. A) to implement

this membership test. We assume the elements of the set are of an unspecis
fled type that will be called elementtype. For convenience, we assume
elementtype is a type for which 4 and = are defined. If not. we must define
functions LT(a. b} and film. b), where a and b are of type elementtype,
such that LT(n. b) is true if and only if a is “less then" b. and EQ(n. b} is
true if and only if a and b are the same.

The type for nodes consists of an element and two pointers to other
nodes:

type

nodetype = record
element: elemcmtype;
leftchfld, righlchiid: tnodetype

end;

 
Then we can define the type SET as a pointer to a node, which we take to be

the root of the binary search tree representing the set. That is:

1' Recall the left diild of the root is a descendant of itself, so we have not ruled out. the
possibility that .I: is at the left child of the root. -
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5,1 BINARY SEARCH TREES 157

W

SET = t nodetype;

Now we can specify fully the function MEMBER, in Fig. 5.2. Notice that
since SET and "pointer to nodetype" are synonymous, MEMBER can call

itself on subtrees as if those subtrees represented sets. In effect, the set can
be subdivided into the subset of members less than I and the subset of

members greater than .1.

function MEMBER ( .r: elementtype: A: SET ) : boolean:
{ returns true if: is in A , false otherwise }
begin

ifA = nil then

return (false) {I is never in El }
else if: = A telemertt then

return (true)
else if: < A telement then

return (MEMBER (x, A tJefichild”
else {1 > A Lelemenr }

return (MEMBERtx, A utghrchitdn
end; { MEMBER }

Fig. 5.2. Testing membership in a binary search tree.

The procedure 1N3ERT(x. A}. which adds element x to set A. is also
easy to write. The first action INSERT must do is test whether A = nil. that
is. whether the set is empty. If so, we create a new node to hold x and make
A point to it. If the set is not empty. we search for x more or less as
MEMBER does. but when we find a nil pointer during our search, we replace

it by a pointer to a new node holding .t. Then x will be in the right place.
namely. the place where the function MEMBER will find it. The code for
INSERT is shown in Fig. 5.3.

Deletion presents some problems. First. we must locate the element x to
be deleted in the tree. If x is at a leaf. we can delete that leaf and be done.

However. .1: may be at an interior node made . and if we simply deleted tnode,
we would disconnect the tree.

If (node has only one child, as the node numbered 14 in Fig. 5.1(b). we
can replace mode by that child, and we shall be left with the appropriate
binary search tree. If inode has two children. as the node numbered 10 in
Fig. 5.1(3). then we must find the lowest-valued element among the descen-
dants of the right child.1‘ For example. in therease the element 10 is deleted
from Fig. 5.10:). we must replace it by 12. the minimum-valued descendant of

1‘ The highest-valued node among the descendants of the left child would do Is well.
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procedure lNSER'l' ( x: elementtype: var A: SET );
{addxto setA}
begin

if A = nil then begin
new(A};
A1 .stement := 1:

A1 .Iefrcllild := nll;

A1 .rightt'hl'ld := nil
end

else if x C Atelemem then
lNSERT(x, Atteflchlld)

else it’x :- A1,etemem then
INSERT (x. Atrightchikfl

{ it' .I: = Atelemem, we do nothing; x is already in the set }
end; { INSERT }

Fig. 5.3. Inserting an element intn a binary.r search tree.

the right child of 10.
Tu write DELETE, it is useful to have a function DELETEMthA) that

removes the smallest element from a nonempty tree and returns the value of
the element removed. The code for DELETEMIN is shown in Fig. 5.4. The
code for DELETE uses DELETEMIN and. is shown in Fig. 5.5.

function DELETEMIN ( var A: SET ] : elementtype;
{ returns and removes the smallest element from set A }

begin
ifAtJeftchild = nil then begin

{ A paints to the smallest element }
DELETEMIN := Amtement;

A 1: Atrightchlld

{ replace the node pointed to by A by its right child }
end

else { the node pointed to by A has a left child }
DELETEMIN := DELETEMINMtJefichild)

end; { DELETEMIN }

Fig. 5.4. Deleting the smallest element.

Example 5.1. Suppose we try It) delete it} from Fig. 5.1(3). Then. in the last
statement of DELETE we call DELETEMIN with argument a pointer to node
14. That pointer is the rightchild field in the root. That call results in
another call to DELETEMIN. The argument is then a pointer to node l2;
this pointer is found in the teftchild field of nude 14. We find that l2 has no
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procedure DELETE ( x: elemenuype; var A: SET );
i remove x from set {1 }

begin
ifA {3' all then

if: < Atefemem then

DELETE”. AtJeficth)
else if x > A Lelemem then

DELETEIx. A Lrt'ghtchild]

{ if we reach here. I is at the node pointed to by A }
else if (Atleficht’fd = nil) and (A t.righrchild = nil) then

A := nil { delete the leaf holding x }
else if A TJeftchlId = nil then

A := Atrightchild
else in: Lrightchild = nil then

A := A tJeftchild

else-[ both children are present I-
At.elemem := DELETEMINMLrightchiM)

end; { DELETE }

Fig. 5.5. Deletion from a binary search tree.

left child. so we return element 12 and make the left child for 14 he the right
child of 12, which happens to be nil. Then DELETE takes the value [2
returned by DELETEMIN and replaces 10 by it. The resulting tree is shown
in Fig. 5.6. D

Fig. 5.6. Tree of Fig. 5. Ha) after deleting 10.
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160 ADVANCED SET REPRESENTATION METHODS

5.2 Tlme Analysis of Binary Search Tree Operations

In this section we analyze the average behavior of various binary search tree
operations. We show that if we insert :1 random elements into an initially
empty binary search tree, then the average path length from the root to a leaf
is 0(logn}. Testing for membership, therefore. takes 0(logn} time.

It is easy to see that if a_binary tree of n nodes is complete (all nodes,
except those at the lowest level have two children], then no path has more
than l+logn nodes.‘f‘ Thus, each of the procedures MEMBER, INSERT,
DELETE. and DELETEMIN takes Otlogn) time. To see this, observe that
they all take a constant amount of time at a node,E then may call themselves
recursively on at most one child. Therefore, the sequence of nodes at which
calls are made forms a path from the root. Since that path is 0(logn) in
length, the total time spent following the path is OUogn).

However, when we insert n elements in a “random" order, they do not
necessarily arrange themselves into a complete binary tree. For example, if
we happen to insert smallest first, in sorted order. then the resulting tree is a
chain of n nodes, in which each node except the lowest has a right child but
no left child. In this case, it is easy to show that, as it takes 00') steps toII

insert the ith element, and 2 r‘ = n(n+ l)/2, the whole process of n insertionsi=1

takes 001:) steps, or 0(a) steps per operation.
We must determine whether the “average“ binary search tree of n nodes

is closer to the complete tree in structure than to the chain, that is, whether
the average time per operation on a “random" tree takes 0(loge) steps, 00:)
steps, or something in between. As we cannot know the true frequency of
insertions and deletions, or whether deleted elements have some special pro-
perty {e.g., do we always delete the minimamfi, we can only analyze the
average path length of “random" trees if we make some assumptions. The
particular assumptions we make are that trees are formed by insertions only,
and all orders of the n inserted elements are equally likely.

Under these fairly natural assumptions, we can calculate Pin), the aver-
age number of nodes on the path from the root to some node (not necessarin
a leaf]. We assume the tree was formed by inserting :1 random elements into
an initially empty tree. Clearly PM} = [l and Ptl) = 1. Suppose we have a
list of n.=:2 elements to insert into an empty tree. The first element on the
list, call it a, is equally likely to he first, second, or nth in the sorted order.
Suppose that i elements on the list are less than a. so n—i—l are greater than
a. When we build the tree, a will appear at the root, the i smaller elements
will be descendants of the left child of the root, and the remaining n—i—l
will be descendants of the right child. This tree is sketched in Fig. 5.1

As all orders for the r‘ small elements and for the n—i—l large elements
are equally likely, we expect that the left and right subtrees of the root will 

T Recall that all logarithms are to the base 2 unless otherwise noted.
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1‘ elements
< a

n A! , 1
elements > a

Fig. 5.7. Binary search tree.

have average path lengths P(i') and P(n—i-— 1), respectively. Since these ele—
ments are reached through the root of the complete tree, we must add 1 to the

number of nodes on every path. Thus P(n) can be calculated by averaging,
for all 1’ between 0 and fl‘"1, the sum

ni(P(i)+t) + 1%”) (P(n-i—l)+l) +%
The first term is the average path length in the left subtree, weighted by its
size. The second term is the analogous quantity for the right subtree, and the
I/n term represents the contribution of the root. By averaging the above sum
for all i between 1 and n, we obtain the recurrence

n“!

Pm) = 1 + ~13 2 [mm + (n—i-twm—tmn] (5.1)n i=0
n~l

The first part of the summation (5.1), E iP(i), can be made identical toi=0n—l

the second part 2(n—i—1)P(n—-i—t) if We substitute i for nmiwl in thei=0
nkl

second part. Also, the term for i=0 in the summation E iP(i) is zero, so wer~0

can begin the summation at I. Thus (5.1) can be written
n-—l

P(n) : 1 + 1: EiPU) forn 2 2 (5.2)n i=1

We shall show by induction on n, starting at n=l, that P(n) 5 1 + 4logn.
Surely this statement is true for n = l, since P(l) = 1. Suppose it is true for
all:' < n. Then by (5.2)

11-]

PM 5 I + 5% 2 (4ilogi + i)i=1H
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2 33141. . ° ’5;51+ -- tog: —"— t
j"32r=l '12 [=1

8 n-l
5 2 + —2 ilogr' (5.3}fl I=II

n—l

The last step is justified. since 21‘ S 112/2. and therefore. the last term of theis!

second line is at most 1. We shall divide the terms in the summation of (5.3)
into two parts, those for i E In/ll-l, whith do not exceed ilogtn/Z), and
those for i> [all] - l, which do not exceed ilogn. Thus (5.3) can be rewritten

8 [not—t u—i

Port) 5 2 + E E ilog(n.’2} + 2 Hugo (5.4)[:1 i=[mr2]

Whether a is even or odd, one can show that the first sum of {5.4) does not
exceed (silences/2), which is (aIISHogH - {n13}. and the second sum does
not exceed (3n2/8)logn. Thus, we can rewrite (5.4) as

8 n2 n2P01] 5 2 + *n—zl—z—logn — if]
5 l + 4logn

as we wished to prove. This step completes the induction and shows that the
average time to follow a path from the root to a random node of a binary
search tree constructed by random insertions is Otlogn). that is to within a
constant factor as good as if the tree were complete. A more careful analysis
shows that the constant 4 above is really about 1.4.

We can conclude from the above that the time of membership testing for a
random member of the set takes OiiognJ time. A similar analysis shows that
if we include in our average path length only those nodes that are missing
both children, or only those missing left children, then the average path length
still obeys an equation similar to (5.1). and is therefore 0(logn). We may
then conclude that testing membership of a random element not in the set.
inserting a random new element. and deleting a random element also all take
allege) time on the average.

Evaluation of Binary Search Tree Perl'ormance

Hash table implementations of dictionaries require constant time per operation
on the average. Although this performance is better than that for a binary
search tree, a hash table requires 0(a) steps for the MIN operation. so it MIN
is used frequently, the binary search tree will be the better choice; if MIN is
not needed, we would probably prefer the hash table.

The binary search tree should also be compared with the partially ordered
tree used for priority queues in Chapter 4. A partially ordered tree with n
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elements requires only Otlogn) steps for each INSERT and DELETEMIN

operation not only on the average, but also in the worst case. Moreover. the
actual constant of proportionality in front of the logrr factor will be smaller for
a partially ordered tree than for a binary search tree. However. the binary
search tree permits general DELETE and MIN operations, as well as the com-
bination DELETEMIN, while the partially ordered tree permits only the

latter. Moreover. MEMBER requires 001} steps on a partially ordered tree
but only 0(logn) steps on a binary search tree. Thus. while the partially
ordered tree is well suited to implementing priority queues. it cannot do as
efficiently any of the additional operations that the binary search tree can do.

5.3 Tries

In this section we shall present a special structure for representing sets of
character strings. The same method works for representing data types that
are strings of objects of any type. such as strings of integers. This structure is
known as the trie. derived from the middle letters of the word "retrieval."l

By way of introduction. consider the following use of a set of character
strings.

Example 5.2. As indicated in Chapter I, one way to implement a spelling
checker is to read a text file, break it into words (character strings separated
by blanks and new lines). and find those words not in a standard dictionary of

words in common use. Words in the text but not in the dictionary are printed
out as possible misspellings. In Fig. 5.8 we see a sketch of one possible pro-
gram spet‘l. It makes use of a procedure gerwordtx.fl that sets .r to be the
next word in text file I; variablex is of a type called wordtype. which we shall
define later. The variable A is of type SET; the SET operations we shall need
are INSERT. DELETE. MAKENULL. and PRINT. The PRINT operator
prints the members of the set. D

The trie structure supports these set operations when the elements of the

set are words. i.e.. character strings. It is appropriate when many words
begin with the same sequences of letters. that is. when the number of distinct

prefixes among all the words in the set is much less than the total length of all
the words.

In a trie, each path from the root to a leaf corresponds to one word in the
represented set. This way. the nodes of the trie correspond to the prefixes of
words in the set. To avoid confusion between words like THE and THEN. let
us add a special endtnarker symbol. $. to the ends of all words. so no prefix of
a word can be a word itself.

Example 5.3. In Fig. 5.9 we see a trie representing the set of words {TI-IF...
THEN, THIN. THIS. TIN. SIN. SING}. That is. the root corresponds to the
empty string. and its two children correspond to the prefixes T and S. The

t Trie was originally intended to be e homonym of "tree“ but to distinguish these two
terms many people prefer to pronounce trie as though it rhymes with ”pie."
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program spell ( input. output. dictionary 1;
type

wordlype = { to be defined };
SET = { to be defined. using the trie structure };

var

A: SET; { holds input words not yet found in the dictionary }
ncxmord: wordtype;
dictionary: file of char;

procedure geMord( var x: wurdtype; I: file of char );
{ a procedure to be defined that sets x

to be the next word in file”

procedure INSERT ( x: wordtype; ver S: SET )'.
{ to be defined }

procedure DELETE (x: wordtype; var S: SET );
{ to be defined }

procedure MAKENULL ( var S: SET J;
{ to be defined }

procedure PRINT ( var S: SET 1;
{ to be defined }

 
begin

MAKENULLM);

while not eof (input) do begin

genvnrdlnexmord, input);
INSERTinexnvord, A)

end;

while not eof (dictionary) do begin
gerword ( outward. dictionary);
DELETECnextword, A)

end;

PRINTM)

end; { spell}

Fig. 5.8. Sketch of spelling checker.

leftmost leaf represents the word THE, the next leaf the word THEN. and so
on- D

We can make the following observations about the trie in Fig. 5.9.

1. Each node has at most 27 children, one for each letter and 5.

 

48



5.3 TRIES 165

 
Fig. 5.9. A trie.

2. Most nodes will have many fewer than 2‘? children.

3. A leaf reached by an edge labeled 5 cannot have any children. and may as
well not be there.

Trie Nodes as ADT's

We can view a node of a trie as a mapping whose domain is
{A, B. . . . .Z. S} (or whatever alphabet we choose) and whose value set is
the type “pointer to trie node.“ Moreover. the trie itself can be identified with
its met. so the ADT‘s TRIE and TRIENODE have the same data type.

although their operations are substantially different. 0n TRIENODE we need
the following operations:

1. procedure ASSIGN(node, mp) that assigns value p [a pointer to a node)
to character as in node node.

2. function VALUEOF(node, c) that produces the value associated with
character c in node,‘l and

3. procedure GETNEW(nade, c) to make the value of node {or character r:
be a pointer to a new node.

Technically, we also need a procedure MAKENULLlnode) to make node be
the null mapping. One simple implementation of [tie nodes is an array node
of pointers to nodes. with the index set being {A. B. . . . ,Z, 5}. That is, we
define

‘i‘ VALUEOF is a function version of COMPUTE in Section 2.5.
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”PE

chars = ('A'. 'B'. t . . , 'Z‘, '5');
TRIENDDE = arraylchars] of f TRIENODE;

1f node is a trie node, nedele] is VALUEOFmode, c) for any r: in the set
chars. To avoid creating many leaves that are children corresponding to '$'.
we shall adopt the convention that nodel'$‘] is either nil or a pointer to the
node itself. In the former case. node has no child corresponding to ’$’. and in

the latter case it is deemed to have such a child , although we never create it.

Then we can write the procedures for trie nudes as in Fig. 5. l0.

procedure MAKENULL ( var node: TRIENODE );
{ makes node a leaf, i.e., a null mapping }
Va:

0: chars:

begin
for c := ’A’ to '$' do

nodelc] := nil

end; { MAKENULL }

procedure ASSIGN {_ var node: TRIENODE; c: chars: p: t TRIENODE };
begin

nude [c] := p
end; { ASSIGN }

 
function VALUEOF ( var node: TRIENODB: c: chars ) : tTRIENODE;

begin
return (node [c 1)

end; { VALUEOF }

procedure GETNEW ( var node: TRIENODE: c: chars );
begin

"mm-tuition:

MAKENULL(node[c])

end; { GETNEW }

Fig. 5.10. Operations on trie nodes.

Now let us define

type
TRIE = 1 TRIENODE;

We shall assume wordtype is an array of characters of some fixed length. The
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value of such an array will always be assumed to have at least one ’$’; we
take the end of the represented word to be the first '$'. no matter what fol-
lows (presumably more '$”s). On this assumption. we can write the pro-
cedure INSERfo. words) to insert .r into set words represented by a trio. as

shown in Fig. 5.ll. We leave the writing of MAKENULL. DELETE. and
PRINT for tries represented as arrays for exercises.

procedure INSERT ( x: wordtype; var words: TRIE );
var

i: integer; { counts positions in word .2: }
r: TRIE; { used to point to trie nodes

corresponding to prefixes of .t }
begin

1' := l;

t := words;

while xh’] <3 '$' do begin
if VALUEOFUT, xi”) = all then

{ if current node has no child for character .rIi].
create one }

GETNEWUr. .i:[i]);
r := VALUEOFUI, xiii]:

{ proceed to the child of: for character xlt'].
whether or not that child was just created }

i:= r'+l {move along the word it}
end;
{ now we have reached the first '$' in x }

ASSIGNUT. 'S‘. r)

{ make loop for ’5' to represent a leaf }
end: {INSERT}

Fig. 5.11. The procedure INSERT.

A List Representation for Trle Nodes

The array representation of trie nodes takes a collection of words. having
among them p different prefixes. and represents them with 27p bytes of
storage. That amount of space could far exceed the total length of the words
in the set. However. there is another implementation of tries that may save
space. Recall that each trie node is a mapping, as discussed in Section 2.6. In
principle. any implementation of mappings Would do. Yet in practice. we
want a representation suitable for mappings with a small domain and for map-
pings defined for comparatively few members of that domain. The linked list
representation for mappings satisfies these requirements nicely. We may
represent the mapping that is a trie node by a linked list of the characters for
which the associated value is not the all pointer. That is. a trie node is a
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linked list of cells of the type

type

celltype = record
domain: chars;

value: 1 celllype;
i Pointer to first cell on list for the child node }

next: tcelltype
{ pointer to nest cell on the list }

end;

We shall leave the procedures ASSIGN, VALUEOF, MAKENULL. and
GETNEW for this implementation of tric nodes as exercises. After writing

these procedures. the INSERT operations on tries. in Fig. 5.] l, and the other
operations on tries that we left as exercises, should work correctly.

Evaluation of the Trie Data Structure

Let us compare the time and space needed to represent n Words with a total of
p different prefixes and a total length of I using a hash table and a trie. In
what follows, we shall assume that pointers require four bytes. Perhaps the

most space-efficient way to store words and still support lNSERT and
DELETE efficiently is in a hash table. If the words are of varying length, the
cells of the buckets should not contain the words themselves; rather. the cells

consist of two pointers. one to link the cells of the bucket and the other point-
ing to the beginning of a word belonging in the bucket.

The words themselves are stored in 'a large character array. and the end
of each word is indicated by an endmarker character such as ’S'. For exam-

ple, the words THE. THEN. and THIN could be stored as

THESTHENSTHINS . . .

The pointers for the three words are cursors to positions I. 5. and ID of the

array. The amount of space used in the buckets and character array is

1. En bytes for the cells of the buckets; there being one cell for each of the n
words, and a cell has two pointers or 8 bytes,

2. l + n bytes for the character array to store the n words of total length l
and their endmarkers. '

The total space is thus 97: + 1 bytes plus whatever amount is used for the
bucket headers.

to comparison. a trie with nodes implemented by linked lists requires
p + n cells. one cell for each prefix and one cell for the end of each word.
Each trie cell has a character and two pointers. and needs nine bytes, for a
total space of 9n + 9p. if i plus the space for the bucket headers exceeds 9p.
the trio uses less space. However, for applications such as storing a dictionary

where Hp is typically less than 3, the hash table would use less space.
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In favor of the trie. however. let us note that we can travel down a trie,

and thus perform operations INSERT, DELETE. and MEMBER in time pro—
portional to the length of the word involved. A hash function to be truly
“random" should involve each character of the word being trashed. It is fair.
therefore, to state that computing the hash function takes roughly as much
time as performing an operation lilte MEMBER on the trie. 01' course the

time spent computing the hash function does not Include the time spent resolv-

ing collisions or performing the insertion, deletion. or membership test on the
hash table, so we can expect tries to be considerably faster than hash tables

for dictionaries whose elements are character strings.
Another advantage to the trie is that it supports the MIN operation effi-

ciently. while hash tables do not, Further. in the hash table organization
described above, we cannot easily reuse the space in the character array when
a word is deleted (but see Chapter [2 for methods of handling such a prob-
lent).

5.4 Balanced Tree Implementations of Sets

In Sections 5.1 and 5.2 we saw how sets could be implemented by binary

search trees, and we saw that operations like INSERT could be performed in
time proportional to the average depth of nodes in that tree. Further, we
discovered that this average depth is 0(Iogn) for a “random" tree of n nodes.
However. some sequences of insertions and deletions can produce binary

search trees whose average depth is proportional to n. This suggests that we
might try to rearrange the tree after each insertion and deletion so that it is
always complete: then the time for INSERT and similar operations would
always be Ollogn).

In Fig. 112(3) we see a tree of six nodes that becomes the complete tree
of seven nodes in Fig. 5.12{b_], when element 1 is inserted. Every element in
Fig. 5.12(a), however, has a different parent in Fig. 5.120)). so we must take
it steps to insert 1 into a tree like Fig. 5.l2(a), if We wish to keep the tree as

balanced as possible. It is thus unlikely that simply insisting that the binary
search tree. be complete will lead to an implementation of a dictionary, priority
queue, or other ADT that includes INSERT among its operations, in Otlogn)
time.

There are several other approaches that do yield worst case 0(logn) time
per operation for dictionaries and priority queues, and we shall consider one
of them, called a “23 tree," in detail. A 2~3 tree is a tree with the following
two properties.

1. Each interior node has two or three children.

2. Each path from the root to a leaf has the same length.

We shall also consider a tree with zero nodes or one node as special cases of a
2-3 tree.

We represent sets of elements that are ordered by some linear order d. as
follows. Elements are placed at the leaves; it element a is to the left of
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A A
A 6/ / \3 ./ \.,

{a} (b)

Fig. 5.12. Complete trees

element b. then a < b must hold. We shall assume that lhe “<" ordering of
elements is based on one field of a record that forms the element type; this

field is called the key. For example. elements might represent people and cer-
tain information about people, and in that case. the key field might be “social
security number."

At each interior node we record the key of the smallest element that is a
descendant of the second child and, if there is a third child. we reeord the key
of the smallest element descending from that child as well.‘i Figure 5.13 is an

example of a 2-3 tree. In that and subsequent examples, we shall identify an
element with its key field. so the order of elements becomes obvious.

 
Fig. 5.13. A 2-3 tree.

1‘ There is another version of 2-3 trees that places whole records at interior nodes. as a
binary search tree does.
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Observe that a 2—3 tree of It levels has between 2’”1 and 3*" leaves. Put

another way. a 2-3 tree representing a set of n elements requires at least
1 + logy: levels and no more than I + [0an levels. Thus, path lengths in the
tree are 0(logn).

We can test membership of a record with key x in a set represented by a
2-3 tree in 0(logn) time by simply moving down the tree, using the values of
the elements recorded at the interior nodes to guide our path. At a node

node, compare a: with the value y that represents the smallest element des-
cending from the second child of node. (Recall we are treating elements as it’

they consisted solely of a key field.) If Jr < y. move to the first child of node.
If Jay. and node has only two children. move to the second child of node. If
node has three children and xzy, compare x with z. the second value
recorded at node. the value that indicates the smallest descendant of the third

child of node. If x<z, go to the second child. and if x22, go to the third
child. In this manner. we find ourselves at a leaf eventually. and x is in the
represented set if and only ifs is at the leaf. Evidently. if during this process
we find I:y or 1:32, we can stop immediately. However, we stated the algo-
rithm as we did because in seme cases we shall wish to find the leaf with x as

well as to verify its existence.

Insertion into a 2-3 Tree

To insert a new element x into a 2-3 tree, we proceed at first as if we were
testing membership of x in the set. However, at the level just above the
leaves, we shall be at a node node whose children, we discover, do not include

I. ll' node has only two children. we simply make it the third child of node,
placing the children in the proper order. We then adjust the two numbers at
node to reflect the new situation.

For example, if we insert 18 into Fig. 5.13, we wind up with node equal

to the rightmost node at the middle level. We place 18 among the children of
node. whose proper order is 16. 18. I9. The ttvo values recorded at node
become 18 and I9. the elements at the second and third children. The result

is shown in Fig. 5.14.
Suppose. however. that .r is the fourth, rather than the third child of

node. We cannot have a node with four children in a 2-3 tree, so we split
node into two nodes. which we call node and ttode'. The two smallest ele-

ments among the four children of node stay with node, while the two larger
elements become children of node“. Now. we must insert node' among the
children of p. the parent of node. This part of the insertion is analogous to
the insertion of a leaf as a child of node. That is, ifp had two children. we
make node’ the third and place it immediately to the right of node. pr had
three children before node’ was created, we split [1 intop and p’. giving p the
two leftmost children and p' the remaining two, and then we insert p' among
the children of p‘s parent. recursively.

One special case occurs when we wind up splitting the root. In that case
we create a new root. whose two children are the two nodes into which the
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Fig. 5.14. 2-3 tree with 18 inserted.

old root was split. This is how the number of levels in a 2-3 tree increases.

Example 5.4. Suppose we insert 10 into the tree of Fig. 5.14. The intended
parent of 10 already has children 7, 8. and 12, so we split it into two nodes.
The first of these has children 7 and 8: the second has 10 and 12. The result

is shown in Fig. 5.15(a). We must now insert the new node with children 10
and 12 in its proper place as a child of the root of Fig. 5.lS(a). Doing so
gives the root four children. so we split it. and create a new root. as shown in
Fig. 5.1503). The details of how information regarding smallest elements of
subtrees is carried up the tree will be given when we develop the program for
the command INSERT. El

Deletion in a 2-3 tree

When we delete a leaf, we may leave its parent node with only one child. If
node is the root. delete node and let its lone child he the new root. Other-

wise. let p be the parent of node. If p has another child. adjacent to node on
either the right or the left. and that child of p has three children, we can

transfer the proper one of those three to node. Then node has two children.
and we are done.

If the children of p adjacent to node have only two children. transfer the

lone child of node to an adjacent sibling of node, and delete node. Should p
now have only one child, repeat all the above. recursively, with p in place of
trade.

Example 5.5. Let us begin with the tree of Fig. 5.lS(b). If 10 is deleted, its
parent has onlyr one child. But the grandparent has another child that has
three children, 16. 18. and 19. This node is to the right of the deficient node.
so we pass the deficient node the smallest element. 16, leaving the 2—3 tree in
Fig. 5.1an.
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(a) (I!)

Fig. 5.15. Insertion of 10 into the tree of Fig. 5.14.

Next suppose we delete 7 from the tree of Fig. 5.l6(a}, Its parent now
has only one child, 8. and the grandparent has no child with three children.
We therefore make 8 be a sibling of 2 and 5, leaving the tree of Fig. 5.|6(b).
Now the node starred in Fig‘ 5,lfi(b) has only one child. and its parent has no
other child with three children. Thus we delete the starred node. making its
child be a child of the sibling of the starred node. Now the root has only one
child. and we delete it, leaving the tree of Fig. 5.16(c).

Observe in the above examples, the frequent manipulation of the values at

interior nodes. While we can always calculate these values by walking the
tree. it can be done as we manipulate the tree itself, provided we remember
the smallest value among the descendants of each node along the path from
the root to the deleted leaf. This information can be computed by a recursive
deletion algorithm. with the call at each node being passed. from above. the
correct quantity (or the value "minus infinity" if we are along the leftmost
path). The details require careful case analysis and will be sketched later
when we consider the program for the DELETE operation. D

Data Types for 2-3 Trees

Let us restrict ourselves to representing by 2—3 trees sets of elements whose
keys are real numbers. The nature of other fields that go with the field key,

to make up a record of type elementtype. we shall leave unspecified. as it has
no bearing on what follows.
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Fig. 5.16. Deletion in a 2-3 tree.

In Pascal. the parents of leaves must be records consisting of two reels

(the keys of the smallest elements in the second and third subtrees) and of
three pointers to elements. The parents of these nodes are records consisting
of two reals and of three pointers to parents of leaves. This progression con~
tinues indefinitely: each level in a 2-3 tree is of a different type from all other

levels. Such a situation would make programming 2-3 tree operations in Pas-
cal impossible, but fortunately. Pascal provides a mechanism. the variant
record structure. that enables us to regard all 2-3 tree nodes as having the
same type. even though some are elements. and some are records with

pointers and reals.'l‘ We can define nodes as in Fig. 5. l7. Then we declare a
set, represented by a 2-3 tree. to be a pointer to the root as in Fig. 5. l7.

Implementation of INSERT

The details of operations on 2-3 trees are quite involved, although the princi-
ples are simple. We shall therefore describe only one operation. insertion. in

detail; the others. deletion and membership testing, are similar in spirit, and
finding the minimum is a trivial search down the leftmost path. We shall
write the insertion routine as main procedure. INSERT. which we call at the
root. and a procedure insertl, which gets called recursively down the tree.

1 All nodes. however. talte the largest amount of space needed for any of the variant
types. so Pascal is not reallyI the best language for implementing 2-3 trees in practice.
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type
elementtype = record

key: real;
{other fields as warranted}

end;

nodetypes = (leaf. interior);
twothreenude = record

case kind: nodetypes of
leaf: (element: elementtype};
interior: mrstchild. recondehlld. thirdchild: I twuthreenode;

lowefsecond. lowofrhird: real)
and;
SET = ttwothreenude:

Fig. 5.17. Definition of a nude in it 2-3 tree.

For convenience, we assume that a 2-3 tree is not a single node or empty.
These two cases require a straightforward sequence of steps which the reader
is inVited to provide as an exercise.

procedure insertl ( node: ttwothreenode;

x: elementtype; {x is to be inserted into the subtrce of node }

var pnew: ttwothreenode; { pointer to new node created to right of node 1.
var t'ow: real ); { smallest element in the subtree pointed to by men: }

begin
pnew := nil;

If node is a leaf then begin
if: is not the element at node then begin

create new node pointed to by pnew;
put x at the new node;
[aw :‘-= Lice-y

end
end

else begin { node is an interior node }

let w be the child of node to whose subtree 1 belongs;
inserer. x, pback. lowback);
If pback <5 nil then begin

insert pointer pback among the children of node just
to the right of w:

if node has four children then begin
create new node pointed to by pnew:
give the new node the third and fourth children of node;
adjust tnwofrecond and lawofthird in node and the new node;
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set Jaw to be the lowest key among the
children of the new node

end
end

end

end; { insert 1 }

Fig. 5.18. Sketch of 2—3 tree insertion program.

We would like insert] to return both a pointer to a new node. if it must
create one, and the key of the smallest element descended from that new
node. As the mechanism in Pascal for creating such a function is awkward,

we shall instead declare fluent] to be a procedure that assigns values to
parameters pnew and low in the case that it must “return" a new node. We

sketch insert] in Fig. 5.18. The complete procedure is shown in Fig. 5.19;
some comments in Fig. 5.13 have been omitted from Fig. 5.19 to save space.

procedure imrrl ( node: I twothreenodc: x: elemeattype;
var meat: 1 twothreenodc: var low: real );

var

pback: ttwothreenode;
iowback: real:

child: l..3: { indicates which child of node is followed
in recursive call (cf. w in Fig. 5.18) }

w: t twothreenodc; { pointer to the child }

basin
pm := all;
ifnaduflnd = leqf theaheuln

if node telememxey <> chey then begin
{ create new leaf holding a: and "return" this node }
new (pnew, leaf );
If (node tenement .key < 1 .key) that:

{ place I in new node to right of current node }
heginpncwuiemenr := 3; law := x.k¢y end

else begin { .1: belongs to left of element at current node }
puew Leisure!" := node telemenr:
node Leis-mt := x;

low := pnewt.elemcat.key
end

end
end

else begin { node is an interior node }
{ select the child of node that we must follow }
if chey < node Hound-second then

begin child := l: w := nodesfirstchild end
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else “(node IJhirdchila‘ = nil) or (May < node Llowafihird) then begin
{1: is in second sublree }
child := 2:
w := uodetrecandcbild

end

else begin {1 is in third sublree }
child := 3:
w := nademhirdchlld

end;

insert 109 , x . pback , low-back );
ifpbaclr <> all then

{ a new child of node must be inserted }
I! node Lillirdcbfld = nil than

{ node had only two children. so insert new node in proper place )-
il' child = 2 then begin

nodeuhlrdchild := pback;
node 1.!0woflhird := lawback

end

elaebegln {child =1}
node trhirdchild := node hrccondchild;

node Llowofi‘hl‘rd := nude anofisccoud;

node chcondchild := pback;
node Llcwafrcccnd := lowback

end

else begin { node already had three children }
mmncw. interior):
if child = 3 then begin

{pback and third child become children of new node }
pnew 1.firrrchild := node Lillirdchild :
pncw uecandchild := pback;
pnewuhirdchild := all;
pnew tlowofreccnd := lowback;

{ lowofihi'rd is undefined for pncw }
low := node Llowofihird;
node Lildrdchlld := nil

end

else begin { child 5 2; move third child of node to pnew}
pnew trecoudchild := node Li‘hr‘rdchl'ld;
pnewrlowafremnd := node Llawofihird:
pncwuhirdcklld := nil;
nodeuhl‘rdchild := nil

end;

ll child = 2 then begin

{ pback becomes first child of pncw }
pnew hflrsrcllila' := pback;
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low := lowbuclt

end;

If child = I then hegln

{second child of node is moved 10pm;
pbaelc becomes second child of node }

pnew Lfirstcllfld := node Lsecondchfld ;
low := nadetJowofsecand:

node Laecandchfld := pbcdc;
node tlowqfsecand :-= (whack

end
end

end

end; { insert! }

Fig. 5.19. The procedure insert 1.

Now we can write the procedure INSERT. which calls Insert 1. If insert]
"returns" a new node, thee INSERT most mate a new root. The code is

shown in Fig. 5.20 on the assumption than the type SET is 1 twothreenode,
i.e.. a pointer to the root of a 2-3 tree whose leaves contain the members of
the set.

procedure INSERT ( x: elementtype: m S: SET );
var

pback: ttwothreenode; {pointer to new node returned by inrenl }
lowbcck: real; {low value in subtree of pbnck }

roves: SET: { place to store a temporary copy of the pointer S }
hell

{ checks for S being empty or a single node should occur here.

and an appropriate insertion procedure should be included }
insert 1(S . x, phat-k. lowbock}:

upland: €> nil then begin
{ create new root; its children are now pointed to by S and phase]: }
saves := S:
neww);

Stfirrwhl'ld := saves;
S1.recondchlld := pluck:
Stlowqfsecond := lowboclc:
Smhirdchfld :a nil;

end

end; { INSERT }

Fig. 5.20. INSERT for sets represented by 2-3 trees.
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Implementation of DELETE

We shall sketch a function delete] that takes a pointer to a node node and an
element x . and deletes a leaf descended from node having value x. if there is
one.1‘ Function delelel returns true if after deletion node has only one child.
and it returns false if node still has two or three children. A sketch of the

code for delete] is shown in Fig. 5.21.
We leave the detailed code for function delete] for the reader. Another

exercise is to write a procedure DELETElS. x] that checks for the special
cases that the set S consists only of a single leaf or is empty. and otherwise
cells deleteI(S.x); if delete] returns true. the procedure removes the root
(the node pointed to by S) and makes 3 point to its lone child.

function delete] ( node: ttwothreenode'. x: elementtype) :hooleen;
var

onlyane: boolean; { to hold the value returned by a call to delete] }
has!!!

delete] :* false;

If the children of node are leaves then begin
If: is among those leaves then begin

remove X ;

shift children of node to the right of .1: one position left;
If node now has one child then

delete] := true
end

end

else begin { node is at level two or higher }
determine which child of node could have x as a descendant:

onlyone :== delete 10v. 1:); { w stands for node Lfirstcht'ld.

node tsecandcltild. or made t.tltt'rdcht'ld, as appropriate }
if onlyone then begin { for children of node }

lfw is the first child ofnode then

If y. the second child of node. has three children then
make the first child of y be the second child of w

else begin { y has two children }
make the child of or be the first child of y;
remove w from among the children of trade;
it node now has one child then

delete] :-= true

end:
[I w is the second child of node then

I! y. the first child of node. has three children then
make the third child of y be the first child of w

l A useful veriant would take only a key value and delete any element with that ltey.
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else { y has two children }
if z. the third child of node, exists

and has three children then
make first child of 2 he the second child of w

else begin { no other child of node has three children }
make the child of w be the third child of y;

remove w from among the children of node;
if node now has one child then

delerel := true

end;
if w is the third child of node then

If y. the second child of node. has three children then
make the third child ofy be the first child of 1»

else begin {y has two children }
make the child of w be the third child of y:
remove w from among the children of node

end { note node surely has two children left in this case }
end

end

end; [delete] }

Fig. 5.2!. Recursive deletion proCedure.

5.5 Sets with the MERGE and FIND Operations

In certain problems we start with a collection of objects. each in a set by itself;
we then combine sets in some order, and from time to time ask which set a

particular object is in. These problems can be solved using the operations
MERGE and FIND. The operation MERGE{A. B, C} makes C equal to the
union of sets .4 and 8, provided A and B are disjoint (have no member in
common); MERGE is undefined if A and B are not disjoint. FlNDLt) is a
function that returns the set of which x is a member; in case x is in two or
more sets, or in no set. FIND is not defined.

Example 5.6. An equivalence relation is a reflexive, symmetric. and transitive
relation. That is. if 5 is an equivalence relation on set S. then for any (not

necessarily distinct} members a. b. and r in S. the following properties hold:

I. a .—= a (reflexivity)

2. lfo E b. then b i a (symmetry).

3. lit: a! b and b =-—. c. then rt E c (transitiviry).

The relation “is equal to" (=) is the paradigm equivalence relation on
any set S. For a. b. and c in 5'. we have (1] a = a. (2] ill: = b. then b = a.

and (3] if n = b and b = c. then a = c. There are many other equivalence
relations. however. and we shall shortly see several additional examples.
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In general, whenever we partition a collection of objects into disjoint
groups. the relation a E b if and only if u and b are in the same group is an
equivalence relation. “Is equal to“ is the special case where every element is
in a group by itself.

More formally. if a set 5' has an equivalence relation defined on it. then
the set .S' can be partitioned into disjoint subsets 5.. SI. . . . . called
equivalence classes, whose union is 5'. Each subset 3, consists of equivalent
members of 3. That is. o E b for all a and b in Sf. and u 5‘5 b if a and b are

in different subsets. For example, the relation congruence module of is an
equivalence relation on the set of integers. To check that this is so. note that
afio = 0. which is a multiple of n (reflexivity): if a-b = till, then
bha = (-—d)n (symmetry); and if tt-b = do and b-c = en. then
“-5. = (d+e)n (transitivity). In the case of congruence modulo it there are n
equivalence classes. which are the set of integers congruent to O. the set of
integers congruent to l. . . . . the set of integers congruent to n—-l.

The equivalence problem can be formulated in the following manner. We
are given a set S and a sequence of statements of the form “a is equivalent to
b." We are to process the statements in order in such a way that at any time
we are able to determine in which equivalence class a given element belongs.

For example. suppose S = {1. 2, . . . ,7} and we are given the sequence of
statements

152 556 354 1:4

to process. The following sequence of equivalence classes needs to be con-
structed, assuming that initially each element ofS is in an equivalence class by
itself.

152 {1.2} {3} {4} {5} t6} {7}

5:6 {1.2} {3} {4} {5.6} {t}

324 {1,2} {3.4} {5.6} {7}

134 {1.2.3,4} {5,6} {7}

We can “solve“ the equivalence problem by starting with each element in
a named set. When we process statement nib. we FIND the equivalence
classics of a and b and then MERGE them. We can at any time use FIND to
tell us the current equivalence class of any element.

The equivalence problem arises in several areas of computer science. For
example. one form occurs when a Portrait compiler has to process
"equivalence declarations“ such as

i We say a is congruent to b module is if a and b have the same remainders when divided
by it. or put another way. e-b is a multiple ofrt.
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EQUIVALENCE (A(l).B(l,2).C(3)). (A(2),D,E), (F.G)

Another example, presented in Chapter 7. uses solutions to the
equivalence problem to help find minimum-cost spanning trees. E!

A Simple Implementation of MFSET

Let us begin with a simplified version of the MERGE~FIND ADT. We shall
define an ADT, called MFSET, consisting of a set of subsets, which we shall

call components, together with the following operations:

1. MERGE“ . 8} takes the union of the components A and B and calls the

result either A or B . arbitrarily.

2. FINDtx) is a function that returns the name of the component of which a:
is a member.

3. INITIALM . x) creates a component named A that contains nnly the ele-
ment I.

To make a reasonable implementation of MFSET, we must restrict our
underlying types. or alternatively, we should recognize that MFSET really has
two other types as “parameters" -- the type of set names and the type of
members of these sets. In many applications we can use integers as set
names. If we take it to be the number of elements, we may also use integers
in the range [1..n] for the members of components. For the implementation
we have in mind. it is important that the type of set members be a suhrange

type, because we want to index into an array defined over that subrange. The
type of set names is not important. as this type is the type of array elements,
not their indices. Observe. however. that if We wanted the member type to be
other than a subrange type, we could create a mapping. with a hash table, for

example. that assigned these to unique integers in a subrange. We only need
to know the total number of elements in advance.

The implementation we have in mind is to declare

eonst

n = { number of elements }:
type

MFSET = arrayil..n] of integer;

as a special case of the more general type

arraylsubrange of members] of (type of set names);

Suppose we declare components to be of type MFSET with the intention that
components [1:] holds the name of the set currently containing it. Then the

three MFSET operations are easy to write. For example, the operation
MERGE is shown in Fig. 5.22. INITIAL“ . it) simply sets mounrsh] to
A , and FlNDix) returns components [x].

The time performance of this implementation of MFSET is easy to
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procedure MERGE ( A. B: integer; var C: MFSET ):
var

I: l..rr:

begin
tetra: I to it do

ifClx] = B then
C[x] := A

end; { MERGE }

Fig. 5.22. The procedure MERGE.

analyze. Each execution of the procedure MERGE takes 0(n} time. On the
other hand, the obvious implementations of lNlTlALt/L x) and FlND(x) have
constant running times.

A Faster Implementation of MFSET

Using the algorithm in Fig. 5.22. a sequence of nrl MERGE instructions

will take 0(n2) time.'l' One way to speed up the MERGE operation is to link
together all members of a component in a list. Then, instead of scanning all
members when we merge component B into A, we need only run down the list
of members of B. This arrangement saves time on the average. However. it

could happen that the r'”' merge is of the form MERGE{A, B) where A is a
component of size 1 and B is a component of size i, and that the result is

named A. This merge operation would require 00‘) steps. "artist a sequence of
n-l such merge instructions would take on the order of E t' = nth-4H2i=1

time.

One way to avoid this worst case situation is to keep track of the size of

each component and always merge the smaller into the larger.i Thus, every
time a member is merged into a bigger component. it finds itself in a com-
ponent at least twice as big. Thus. if there are initially :1 components. each
with one member, none of the it members can have its component changed
more than l+logn times. As the time spent by this new version of MERGE
is proportional to the number of members whose component names are
changed. and the total number of such changes is at most n(1+logn), we see

that 001 logn) work suffices for all merges.
Now let us consider the data structure needed for this implementation.

First, we need a mapping from set names to records consisting of

i Note that n—I is the largest number of merges that can be performed before all ele‘
ments are in one set.

1 Note that our ability to call the resulting component by the name at either of its consti-
tuents is important here. although in the simpler implementation, the name of the first ar‘
gument was always picked.
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l. a count giving the number of members in the set and

2. the index in the array of the first element of that set.

We also need another array of records. indexed by members, to indicate
1. the set of which each element is a member and

2. the next array element on the list for that set.

We use 0 to serve as NIL. the end-of-list marker. In a language that lent

itself to such constructs, we would prefer to use pointers in this array. but
Pascal does not permit pointers into arrays.

In the Special case where set names, as well as members, are chosen from

the subrange Ln, we can use an array for the mapping described above.
That is, we define

type

nametype = 1..n;
elementtype = l..n;
MFSET = record

retheaders: arrayl i . . it} of record
{ headers for set lists }
count: (Ln;

firstelemem: 0..»
end;

names: array“ ..n] of record

{ table giving set containing each member }
screams: nametype;
nexrelemem: 0. .31

end

end;

The procedures INITIAL. MERGE, and FIND are shown in Fig. 5.23.

Figure 5.24 shows an example of the data structure used in Fig. 5.23,
where set 1 is {1, 3, 4}, set 2 is {2}, and set Sis {5. 6}.

A Tree Implementation of MFSET’s

Another. completely different, approach to the implementation of MFSET‘s
uses trees with pointers to parents. We shall describe this approach infor-
mally. The basic idea is that nodes of trees correspond to set members, with

an array or other implementation of a mapping leading from set members to
their nodes. Each node. except the root of each tree. has a pointer to its
parent. The roots hold the name of the set, as well as an element. A map-
ping from set names to roots allows access to any given set, when merges are
done.

Figure 5.25 shows the sets A = {1, 2, 3. 4}, B = {5. 6}. and C = {7}
represented in this form. The rectangles are assumed to be part of the root

node, not separate nodes.
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procedure INITIAL ( A: nametype; x: elementtype: var C: MFSET J;
{ initialize A to a set containing 1 only }
begin

C.flflm93 [x Litemame := A:

C.nams[.r].n£xr£lemeflt := 0;

{ null pointer at end of list of members ofA }
C .sethender: [A I.cotmt := l:
C .setheaders [A ].firstelement : = Jr

end: { INITIAL }

procedure MERGE ( A. B: nametype; var C: MFSET );
{ merge
var

i: 0.

begin

A and B. calling the result A or B. arbitrarily }

.n; { used to find end of smaller list }

if C.setheaders [A Leon: 3' C.setheaders [B Leann: then begin

end
else

{ A is the larger set; merge B into A }
i find end of B. changing set names to A as we go }
r' := C.serheader.t[B].firstelement;

While C.namerfi ].nextelernent <3- 0 do begin
Enema: [1' Lumen}: := A;
i := CJIGII'IEJ [i].nextelemenr

end;

{ append list A to the end OH? and call the result A }
{ now i is the index of the last member of!!! }
Quarries [t'].semame := A;

Gimmes [t Inexreiemenr :1: C.selhmders [A ].firstelemem:
CJerIIeaders {A ].firstelement := C.setheaders [B Lflrslelement;
CJetheaderslA [count := CJetl‘teaders [A Leann: +

C.setheaders [B Leotmt:
authentic” [B Leann: := 0:

C.setheaders [B ].firstelentent := 0

{ above two steps not really necessary. as set 3 no longer exists }

{B is at least as large as A l

{ code similar to case above, but with A and B interchanged }
end; { MERGE }

function FIND ( 1:: Ln; var C: MFSET );
{ return
begin

the name of the set of which .1: is a member }

return (Cfiamex [x Manama)
end; { FIND}

Fig. 5.23. The operations of an MFSET.
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To find the set containing an element x. we first consult a mapping (e.g..
an array) not shown in Fig. 5.25. to obtain a pointer to the node for x. We
then follow the path from that node to the root of its tree and read the name
of the set there.

The basic merge operation is to make the root of one tree be a child of
the root of the other. For example. we could merge A and B of Fig. 5.25 and
call the result A. by making node 5 a child of node 1. The result is shown in
Fig. 5.26. However. indiscriminate merging could result in a tree of n nodes
that is a single chain. Then doing a FIND operation on each of those nodes

would take We“) time. Observe that although a merge can be done in 0“)
steps, the cost of a reasonable number of FIND‘s will dominate the total cost.
and this approach is not necessarily better than the simplest one for executing
n merges and it finds.

However. a simple improvement guarantees that if n is the number of ele-
ments. then no FIND will take more than 0(log n) steps. We simply keep at
each root a count of the number of elements in the set. and when called upon

to merge two sets. we make the root of the smaller tree be a child of the root
of the larger. Thus. every time a node is moved to a new tree, two things
happen: the distance from the node to its root increases by one. and the node
will be in a set with at least twice as many elements as before. Thus. if n is
the total number of elements. no node can be moved more than logn times;
hence, the distance to its root can never exceed logo. We conclude that each

FIND requires at most 0(logn) time.

Path Compression

Another idea that may speed up this implementation of MFSET‘s is path
compression. During a FIND. when following a path from some node to the
root. make each node encountered along the path be a child of the root. The
easiest way to do this is in two passes. First. find the root. and then
retravcrse the same path. making each node a child of the root.

Example 5.7. Figure 5.27m) shows a tree before executing 3 FIND operation
on the node for element 7 and Fig. 5.27(b} shows the result after 5 and T are
made children of the root. Nodes I and 2 on the path are not moved because
1 is the root. and 2 is already a child of the root. El

Path compression does not affect the cost of MERGE's; each MERGE

still takes a constant amount of time. There is, however. a subtle speedup in
FlND's since path compression tends to shorten a large number of paths from
various nodes to the root with relativ'ely little effort.

Unfortunately. it is very difficult to analyze the average cost of FIND‘s

when path compression is used. _IIt turns out that if we do not require that
smaller trees be merged into larger ones, we require no more than otnlogn)

time to do n FlND's. Of course. the first FIND may take 0th) time by itself
for a tree consisting of one chain. But path compression can change a tree

very rapidly and no matter in what order we apply FIND to elements of any
tree no more than 0(a) time is spent on n FlND‘s. However, there are
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cowl! flutet'ement setttnme nexrelemem

serheaders names

Fig. 5.24. Example of the MFSE'I‘ data structure.

 

Fig. 5.25. MFSET represented by a collection of trees.

sequences of MERGE and FIND instructions that require fl(nlogn) time.
The algorithm that both uses path compresaion and merges the smaller

tree into the larger is asymptotically the most efficient method known for

implementing MFSET‘s. In particular, it FLND‘s require no more than
0(na(n}] time, where ntn) is a function that is not constant, yet grows much
more slowly than logo. We shall define :10!) below, but the analysis that
leads to this bound is beyond the scope of this book.
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name = A

<5 6

Fig. 5.26. Merging B into A.

0 0

9 0 090 0

00 0 00069

000 '

09
(a) (b)

Fig. 5.27. An example of path compression.
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The Function (:00

The function not) is closely related to a very rapidly growing function
Atx. y). known as Ackermonn'sfimctt‘nn. ALI. y) is defined recursively by:

A(0.y] =l t'ory 3.- 0

M1. 0) = 2

ALI. (J) = n+2 forx a 2

Au. y) = AMtx—l. )2). _‘-'-l) for x. y 21

Each value of y defines a function of one variable. For example, the third
line above tells us that for y=[l. this function is “add 2.“ For y = l, we have
Am. I) = AtA{x—l, l).0) = Atx—l, I) + 2, for .r r» I. with AU. 1] =

MA“). I). 0) = A{l.0) = 2. Thus Au. 1) = 2:: for all .I: Z 1. In other
words, Atx, l) is “multiply by 2." Then, A(.I:,2) = A(A(.r—l,2}. I] =

Mix—1.2) for x )1. Also. MI, 2) = A(A(0,2). l) = All, I) = 2. Thus
not. 2) = 2*. Similarly. we can show that no. 3) = 22' [stack of x 2's).
while A(.r. 4} is so rapidly growing there is no accepted mathematical notation
for such a function.

A single-variable Ackermann's function can be defined by letting
ALI} = Atx, x). The function min) is a pseudo-inverse of this single variable
function. That is, one) is the least 1 such that n E ALI). For example.
M1} = 2. so em = «2) = l. M2) = 4. so (1(3) = «(4) = 2. Am) = s,

so a(5) = ' -- ‘2 rial) = 3. So far, din) seems to be growing rather

steadily.
However, AM) is a stack of 65536 2's. Since log{A(4)) is a stack of 65535

2's, we cannot hope even to write m4) explicitly. as it would take log(A(4))
bits to do so. Thus min} 5 4 for all integers it one is ever likely to encounter.
Nevertheless, ot{n) eventually reaches 5, 6, 'i', . . . on its unimaginably slow
course toward infinity.

5.6 An ADT with MERGE and SPLIT

Let S be a set whose members are ordered by the relation C. The operation
SPLlT{S. 5;. 52. x) partitions S into two sets: S.={ a In is in S and :1 <7. I}
and S; = {n in is in S and a E: x}. The value of 5 after the split is uncles
fined. unless it is one of SI or 5;. There are several situations where the
operation of splitting sets by comparing each member with a fixed value x is
essential. We shall consider one such problem here.

The Longest Common Subsequenee Problem

A subsequent-e of a sequence x is obtained by removing zero or more (not
necessarily contiguous) elements from x. Given two sequences 1 and y, a
longest common snbseqnence (LES) is a longest sequence that is a subsequence
of both it and y.
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For example, an LCS of l, 2, 3, 2,4, l, 2 and 2, 4, 3, l, 2, l is the
subsequence 2, 3. 2, 1, formed as shown in Fig. 5.28. There are other LCS's
as well, such as 2, 4, l, 2, but there are no common subsequences of length 5.

2324

/\\\
243

Fig. 5.28. A longest common subscquencc.

There is a UNIX command called difi' that compares files line-by-line, finding
a longest common subsequence, where a line of a file is considered an element
of the subsequence. That is, whole lines are analogous to the integers l, 2, 3,
and 4 in Fig. 5.28. The assumption behind the command diff is that the lines
of each file that are not in this LCS are lines inserted, deleted or modified in

going from one file to the other. For example, if the two files are versions of
the same program made several days apart, difi will, with high probability,
find the changes.

There are several general solutions to the LCS problem that work in

0(n2) steps on sequences of length n. The command diff uses a different stra-
tegy that works well when the files do not have too many repetitions of any

line. For example, programs will tend to have iines “begin" and “end”
repeated many times, but other lines are not likely to repeat.

The algorithm used by diff for finding an LCS makes use of an efficient

implementation of sets with operations MERGE and SPLIT, to work in time
0(plogn), where n is the maximum number of lines in a file and p is the
number of pairs of positions, one from each file, that have the same line. For
example, p for the strings in Fig. 5.28 is 12. The two 1's in each string con-
tribute four pairs, the 2's contribute six pairs, and 3 and 4 contribute one pair

each. In the worst case, p could be :42, and this algorithm would take

0(n2logn) time. However, in practice, p is usually closer to n, so We can
expect an 0(nlogn) time complexity.

To begin the description of the algorithm let A = (no; - - - an and
B = blbz - - - b,,, be the two strings whose LCS we desire. The first step is to

tabulate for each value a, the positions of the string A at which a appears.
That is, we define PLACES(a) = {i la = 11,-}. We can compute the sets
PLACES(a) by constructing a mapping from symbols to headers of lists of
positions. By using a hash table, we can create the sets PLACES(a) in 0(n)
“steps” on the average, where a “step" is the time it takes to operate on a
symbol, say to bash it or compare it with another. This time could be a con-
stant if symbols are characters or integers, say. However, if the symbols of A
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and H are really lines of text‘ then steps take an amount of time that depends
on the average length of a line of text.

Having computed PLACES(a) for each symbol a that occurs in string A,
we are ready to find an LCS. To simplify matters. we shall only show how to
find the length of the LCS. leaving the actual construction of the LCS as an
exercise. The algorithm considers each h, for j = l. 2. . . . .m, in turn.

After considering by, we need to know, for each i between 0 and n. the length
of the LCS of strings al . - ‘ a,- and b. ‘ ' ‘ by.

We shall group values of i into sets St. for k = 0. l. . . . .n. where 5;,

consists of all those integers i such that the LCS of a, - - -n.- and bl - - . b!-
has length It. Note that S; will always be a set of consecutive integers, and
the integers in S“, are larger than those in St. for all In

Example 5.8. Consider Fig. 5.28, with j = 5. If we try to match zero sym-
bols from the first string with the first five symbols of the second (24312), we

naturally have an LCS of length 0, so 0 is in So. If we use the first symbol
from the first string. we can obtain an LES of length l. and if we use the first
two symbols. 12. we can obtain an LCS of length 2. However. using l23, the
first three symbols. still gives us an LCS of length 2 when matched against
24312. Proceeding in this manner. we discover So = {D}, S} = {I}. S; = {2.
3}. S3 = {4, S. 6}, and 34 = {7}. D

Suppose that we have computed the Sk‘s for position j—-l of the second

string and we wish to modify them to apply to position j. We consider the set

PLACEStbp. For each r in PLACEfibJ-J. we consider whether we can
improve some of the LCS‘s by adding the match between fir and b}- to the LES
of a1- - -n,_, and b1 ‘ - - by. That is. if both r~l and r are in Si. then all
s a r in 5t really belong in Sin when by is considered. To see this we
observe that we can obtain k matches between all - . - a,_l and b1 - ‘ - bI-l' to
which we add a match between a, and by. We can modify Si and S“. by the
following steps.

I. FINDtr) to get St.

2. if FINDtr-l) is not 5;, then no benefit can he had by matching b)- with
(2,. Skip the remaining steps and do not modify St or St“.

3. If FlND(r- l) = .5}. apply SPLITLS}, .5}. Si. r} to separate from St those
members greater than or equal to r.

4. MERGEtSi. SH]. 3“!) to move these elements into 5“,.

it is important to consider the members of PLACESle] largest first. To
see why, suppose for example that T and 9 are in PLACESth). and before by
is considered. S;={6, 7. 8. 9i and 34=llfl. II}.

If we consider 7 before 9. we split S, into S; = {6} and 3; = {7. 8. 9},

then make 54 =‘ {'l. 8. 9. 10. 1!}. If we then consider 9, we split 54 into
Si=l7. 8} and 5., = {9. 10, 1!}. then merge 9, 10 and It into 55. We have
thus moved 9 from S3 to S; by considering only one more position in the
second string, representing an imprissibility. lntuitively. what has happened is

that we have erroneously matched b1,- against both a? and rig in creating an
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imaginary LCS of length 5.
In Fig. 5.29, we see a sketch of the algorithm that maintains the sets 3.. as

we scan the second string. To determine the length of an LCS. we need only
execute FINDu-t} at the end.

procedure LCS;
begin

(1) initialize so = {0,1 ..... n} and s. = 25 l'urr' = l. 2. . ...rr;
(2) for} := I to is do { compute Sk‘s for position j }

(3) for r in PLACES(b.-). largest first do begin
(4) k := FINDU’);

(5) Hit = FlND(r-—l) then hegln { r is not smallest in 5,. l

(6) spurts... s... 5;, r};
(7) MERGEwu SHI- Stu)

end
end

end; {LCS}

Fig. 5.29. Sketch of longest common subsequence program.

Time Analysis of the LCS Algorithm

As we mentioned earlier. the algorithm of Fig. 5.29 is a useful approach only
if there are not too many matches between symbols of the two strings. The
measure of the number of matches is

M

p = 2 [PLACES(b.)|j-t

where IPLACEStb.-)| denotes'the number of elements in set PLACEMbj). In
other words, ,0 is the sum over all b}- of the number of positions in the first
string that match bi. Recall that in our discussion of file comparison, we
expect .0 to be of the same order as m and'n. the lengths of the two strings
(files).

It turns out that the 2-3 tree is a good structure for the sets S... We can
initialize these sets. as in line (i) of Fig. 5.29, in 001) steps. The FIND
operation requires an array to serve as a mapping from positions r to the leaf

for r and also requires pointers to parents in the 2-3 tree. The name of the
set, i.e., k for S... can be kept at the root. so we can execute FIND in Otlogn)
steps by following parent pointers until we reach the root. Thus all executions
of lines (4) and (5) together talte 0(plogn} time. since those lines are each
executed exactly once for each match found.

The MERGE operation of line (5) has the special property that every

member of Si is lower than every member of 5...... and we can take advantage
of this fact when using 2-3 trees for an implementation.l‘ To begin the

T Strictly Speaking we should use a different name for the MERGE operation. as the im-
plementation we propose will not worlt to compute the arbitrary union of disjoint sets.
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MERGE. place the 2-3 tree for S}. to the left of that for S“... If both are of
the same height. create a new root with the roots of the two trees as children.
If Si is shorter. insert the root of that tree as the leftmost child of the leftmost
node tits“, at the appropriate level. 11' this node now has four children. we
modify the tree exactly as in the INSERT procedure of Fig. 5.20. An exam-

pie is shown in Fig. 5.30. Similarly. if 5,... is shorter. maize its root the right-
most child of the rightmost node of 3; at the appropriate level.

 
6 7 8 9 10 1112 I3 14 6 7 B 9 10 1112 l3 14

5:: Sm 5H1

(a) Before restructuring (in) After restructuring

Fig. 5.3!]. Example of MERGE.

The SPLIT operation at r requires that we travel up the tree from leaf r,
duplicating every interior node along the path and giving one eon)r to each of
the two resulting trees. Nodes with no children are eliminated. and nodes

with one child are removed and have that child inserted into the proper tree at
the proper level.

Example 5.9. Suppose we split the tree of Fig. 5.30m) at node 9. The two
trees. with duplicated nodes. are shown in Fig. 5.3](3). 0n the left, the

parent of 8 has only one child. so 8 becomes a child of the parent of 6 and 7.
This patent now has three children. so all is as it should be: if it had four chil-
dren. a new node would have been created and inserted into the tree. We

need only eliminate nodes with zero children (the old parent of B) and the
chain of nodes with one child leading to the root. The parent of 6, 't'. and 8
becomes the new root. as shown in Fig. 5.3l(b). Similarly, in the right-hand
tree. 9 becomes a sibling of 10 and II. and unnecessary nodes are eliminated,
as is also shown in Fig. 5.3l(b]. El

while keeping the elements sorted so operations like SPLIT and FIND can be performed.
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I
5 78 91011121314

(a) Split trees.

A
678 910]]12l3l4

(h) Result of repairs.

Fig. 5.3]. An example of SPLIT.

If we do the splitting and reorganization of the 2-3 tree bottom up. it can
be shown by consideration of a large number of cases that Otlogn) steps suf-
fices. Thus. the total time spent in lines (6) and (7) of Fig. 5.29 is 0(plogn),
and hence the entire algorithm takes 0(plog 11) steps. We must add in the
preprocessing time needed to compute and sort PLACES’M) for symbols a.
As we mentioned, if the symbols a are “large" objects. this time can be much

greater than any other part of the algorithm. As we shall see in Chapter 8, if
the symbols can be manipulated and compared in single ”steps," then
0(nlogn) time suffices to sort the first string old: ‘ ' ‘ a" (actually, to sort
objects (f, at) on the second field). whereupon PLACESUJ) can be read off
from this list in 0(a) time. Thus. the length of the LCS can be computed in
0(maxtn. p) loge) time which, since p 2 it is normal. can be taken as
Otplogn).
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Exercises

5.1

5.2

5.3

*504

5.5

5.7

5.8

5.9

5.10

5.11

Draw all possible binary search trees containing the four elements 1,
2. 3, 4.

Insert the integers 7, 2, 9, 0, 5, 6, 8. 1 into a binary search tree by

repeated application of the procedure INSERT of Fig. 5.3.

Show the result of deleting 7, then 2 from the final tree of Exercise
5.2.

When deleting two elements from a binary search tree using the pro-

cedure of Fig. 5.5, does the final tree ever depend on the order in
which you delete them?

We wish to keep track of all S-character substrings that occur in a
given string, using a trie. Show the trie that results when we insert
the 14 substrings of length five of the string ABCDABACDEBA-
CADEBA.

To implement Exercise 5.5, we could keep a pointer at each leaf,
which. say, represents string abode, to the interior node representing

the suffix bcdc. That way, if the next symbol, say f , is received. we
don't have to insert all of bcdef . starting at the root. Furthermore,
having seen abode. we may as well create nodes for bode. cde, de ,
and 2. since we shall, unless the sequence ends abruptly, need those
nodes eventually. Modify the trie data structure to maintain such
pointers, and modify the trie insertion algorithm to take advantage of
this data structure.

Show the 2—3 tree that results if we insert into an empty set,
represented as a 2-3 tree, the elements 5. 2, 7, 0, 3, 4, 6. l, 8, 9.

Show the result of deleting 3 from the 2-3 tree that results from Exer-
cise 5.7.

Show the suwessive values of the various Sf’s when implementing the

LCS algorithm of Fig. 5.29 with first string abacabada, and second
string bdbacbad .

Suppose we use 2-3 trees to implement the MERGE and SPLIT opera-
tions as in Section 5.6.

a) Show the result of splitting the tree of Exercise 5.7 at 6.

b) Merge the tree of Exercise 5.7 with the tree consisting of leaves
for elements 10 and it.

Some of the structures discussed in this chapter can be modified easily
to support the MAPPING ADT. Write procedures MAKENULL,
ASSIGN. and COMPUTE to operate on the following data structures.

a) Binary search trees. The "<" ordering applies to domain ele-
ments.
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5.12

5.13

5.14

*5.15

*5.16

5.17

$5.18

5.19

*5.20

ADVANCED SET REPRESENTATION METHODS

b) 2—3 trees. At interior nodes, place only the key field of domain
elements.

Show that in any subtree of a binary search tree, the minimum ele-
ment is at a node without a left child.

Use Exercise 5.12 to produce a nonrecursive version of DELETE-
MIN.

Write procedures ASSIGN, VALUEOF, MAKENULL and GETNEW
for trie nodes represented as lists of cells.

How do the trie (list of cells implementation), the open hash table.
and the binary search tree compare for speed and for space utilization
when elements are strings of up to ten characters?

If elements of a set are ordered by a “<" relation, then we can keep
one or two elements (not just their keys) at interior nodes of a 2-3
tree, and we then do not have to keep these elements at the leaves.
Write lNSERT and DELETE procedures for 2-3 trees of this type.

Another modification we could make to 2-3 trees is to keep only keys
at interior nodes, but do not require that the keys 1:. and kg at a node

truly be the minimum keys of the second and third subtrees, just that
all keys I: of the third subtree satisfy k 2 k2, all keys k of the second
satisfy k, s k < kg. and all keys k of the first satisfy k < kl.

a) How does this convention simplify the DELETE operation?

b) Which of the dictionary and mapping operations are made more

complicated or less efficient?

Another data structure that supports dictionaries with the MIN opera-
tion is the AVL tree (named for the inventors' initials) or

height—balanced tree. These trees are binary search trees in which
the heights of two siblings are not permitted to differ by more than
one. Write procedures to implement ENSERT and DELETE. while
maintaining the AVL-tree property.

Write the Pascal program for procedure delerel of Fig. 5.21.

A finite automaton consists of a set of states, which we shall take to
be the integers l..n and a table transitionflstate, input] giving a
next state for each state and each input character. For our purposes,

we shall assume that the input is always either 0 or I. Further, cer-
tain of the states are designated accepting states. For our purposes,
we shall assume that all and only the even numbered states are
accepting. Two states p and q are equivalent if either they are the
same state. or (i) they are both accepting or both nonaccepting, (ii) on
input 0 they transfer to equivalent states, and (iii) on input 1 they

transfer to equivalent states. Intuitively, equivalent states behave the
same on all sequences of inputs; either both or neither lead to accept-
ing states. Write a program using the MFSET operations that com-
putes the sets of equivalent states of a given finite automaton.
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“5.21 In the tree implementation of MFSET:

a) Show that “(It loge} time is needed for certain lists of n opera-
tions if path compression is used but larger trees are permitted to
be merged into smaller ones.

In Show that Otnutnn is the worst case running time for n opera-
tions if path compression is used. and the smaller tree is always
merged into the larger.

5.22 Select a data structure and write a program to compute PLACES
(defined in Section 5.6) in average time 001) for strings of length n.

t=5.le Modify the LCS procedure of Fig. 5.29 to compute the LCS. not just
its length.

*5.24 Write a detailed SPLIT procedure to work on 2-3 trees.

$5.25 If elements of a set represented by a 2-3 tree consist only of a key
field. an element whose key appears at an interior node need not
appear at a leaf. Rewrite the dictionary operations to take advantage
of this fact and avoid storing any element at two different nodes.
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CHAPTER 10

Algorithm

Design

Techniques

Over the years computer scientists have identified a number of general tech-

niques that often yield effective algorithms in solving large classes of prob-
lems. This chapter presents some of the more important techniques, such as
divide-and—conquer. dynamic programming, greedy techniques. backtracking.
and local search. In trying to devise an algorithm to solve a gi\ problem, it
is often useful to ask a question such as "What kind of solution does divide-

and—conquer, dynamic programming. a greedy approach. or some other stan-
dard technique yield?"

It should be emphasized, however, that there are problems. such as the
NP—complete problems. for which these or any other known techniques will
not produce efficient solutions. When such a problem is encountered. it is
often useful to determine if the inputs to the problem have special characteris-
tics that could be exploited in trying to devise a solution. or if an easily found
approximate solution could be used in place of the difficult-to-compute exact
solution.

10.1 Divide-and-Conquer Algorithm

Perhaps the most important, and most widely applicable, technique for design-
ing efficient algorithms is a strategy called “divide-and-oonquer." It consists

of breaking a problem of size a into smaller problems in such a way that from
solutions to the smaller problems we can easily construct a solution to the
entire problem. We have already seen a number of applications of this tech-
nique, such as mergemrt or binary search trees.

To illustrate the method consider the familiar “towers of Hanoi" puzzle.
It consists of three pegs .4. BI, and C. Initially peg A has on it some number
of disks, starting with the largest one on the bollnm and successively smaller
ones on top, as shown in Fig. [0.1. The object of the puzzle is to move the
disks one at a time from peg to peg, never placing a larger disk on top of a
smaller one. eventually ending with all disks on peg B.

One soon learns that the puzzle can be solved by the following simple
algorithm. imagine the pegs arranged in a triangle. On odd-numbered
moves, move the smallest disk one peg clockwise. On even-numbered moves
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Fig. 10.1. initial position in towers of Hanoi puzzle.

make the only legal move not involving the smallest disk.
The above algorithm is concise, and correct, but it is hard to understand

why it works, and hard to invent on the spur of the moment. Consider
instead the foll0wing divide-and-conquer approach. The problem of moving
the n smallest disks from A to B can be thought of as consisting of two subw

problems of size n-l. First move the "“1 smallest disks from peg A to peg
C, exposing the rim smallest disk on peg A. Move that disk from A to B.
Then move the 11—1 smallest disks from C to B. Moving the 72-1 smallest

disks is accomplished by a recursive application of the method. As the n disks
involved in the moves are smaller than any other disks. we need not concern

ourselves with what is below them on pegs A, B, or C. Although the actual
movement of individual disks is not obvious, and hand simulation is hard

because of the stacking of recursive calls, the algorithm is conceptually simple
to understand, to prove correct and, we would like to think, to invent in the
first place. It is probably the ease of discovery of divide-and-conquer algo-
rithms that makes the technique so important, although in many cases the
algorithms are also more efficient than more conventional ones.’t

The Problem of Multiplying Long Integers

Consider the problem of multiplying two rt-bit integers X and Y. Recall that
the algorithm for multiplication of n-bit (or n—digit) integers usually taught in
elementary school involves computing n partial products of size n and thus is

an 0012) algorithm, if we count single bit or digit multiplications and addi-
tions as one step. One divide-and—conquer approach to integer multiplication
would break each of X and Y into two integers of n/2 bits each as shown in

1‘ in the towers of Hanoi case, the divide-and-conquer algorithm is really the same as the
one given initially.
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Fig. “)2. {For simplicity we aseumc n is a power of 2 here.)

Fig. 10.2. Breaking n-bit integers into {21-bit pieces.

The product of X and Y can now be written

Xi’ = AC2“ + promo 2'”2 + no I (10.1)

If we evaluate X? in this straightforward way, we have to perform four multi-
plications of (mm-bit integers (AC. AB. BC, and BD), three additions of
integers with at most 2n bits (corresponding to the three + signs in (10.1)),
and two shifts [multiplication by 2" and 2"”). As these additions and shifts
take 0(a) steps, we can write the following recurrence for Tin). the total

number of bit operations needed to multiply n—bit integers according to (10.1).

TU) = l

Tin) = 4T(n/2) + CH (10.2)

Using reasoning like that in Example 9.4, we can take the constant r: in (10.2}
to he 1. so the driving function rifle} is just n, and then deduce that the homo-

geneous and particular solutions are both 0012).
In the case that formula (10.1} is used to multiply integers, the asymptotic

efficiency is thus no greater than for the elementary school method. But
recall that for equations like (10.2) we get an asymptotic improvement if we
decrease the number of subproblerns. lt ma}.r be a surprise that we can do so,
but consider the following formula for multiplying X by 1’.

XY = AC2“ + [(3 -H){'D-C} + AC + 3012’": + SD (10.3}

Although (10.3) looks more complicated than (10.1] it requires only three

multiplications of (nf2l-bit integers, AC, BD. and (A-BltD-C), six additions
or subtractions, and two shifts. Since all but the multiplications take 0(a)
steps. the time The} to multiply n-bit integers by (10.3) is given by

1(1) = 1

T01} = 3Tim'2} + at

whose solution is Ttn} = OUILasZJ) = 0011'”).
The complete algorithm, including the details implied by the fact that

(10.3) requires multiplication of negative, as well as positive, (MB-hit
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integers, is given in Fig. [0.3. Note that lines (SJ—(ll) are perforated by
copying bits, and the multiplication by 2" and 2'”? in line (l6) by shifting.
Also. the multiplication by s in line (l6) simply introduces the proper sign
into the result.

l'tinrtion mutt t X, Y. n: integer J: integer;
{X and l’ are signed integers 5 2".

n is a power of 2. The function returns Xi" }
war

5". integer; { holds the sign of Xl’ }

ml. m2. m3: integer; { hold the three products }
A, B, C, D: integer; { hold left and right halves ofX and Y}

begin
(I) .r :=-— sigan) 1' signU’);
(2) X := abs(X};

(3) Y := ahsfl’); { make X and 1’ positive }
(4) iii: = 1 then
(5} if(X= llanth= ”then
(6) return (5)

else

(7) return (0)
else begin

(3) A l= lel'l n/E bits of X;

(9) E := right n12 bits tit'X;
(10) C := left 91/2 bits of Y;

(1 l) D := right 112‘2 hits of Y;
(1'3) ml .'= mutt(A,C,nf2J;
(:4) m2 := muftM—B. D—C, n12);
(15) m3 := mutt(B, D. 11/2);

(16) return (5' ... {ml*2” + (ml + m2 + n13}* 2""1 + m3))
end

end; { mutt}

Fig. [0.3. Divide-and-conquer integer multiplication algorithm.

ObserVe that the dividend-conquer algorithm of Fig. [0.3 is asymptoti-
cally faster than the method taught in elementary school, taking Owl”) steps
against 00-11). We may thus raise the question: if this algorithm is so superior
why don‘t We teach it in elementary school? There are two answers. First,
while easy to implement on a computer, the description of the algorithm is
sufficiently complex that if we attempted to teach it in elementary school stu—
dents Would not learn to multiply. Furthermore. we have ignored constants of
proportionality. While procedure mutt of Fig. 10.3 is asymptotically superior
to the usual method. the constants are such that for small problems (actually
up to about 500 hits) the elementary school method is superior. and we rarely
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ask elementary school children to multiply such numbers.

Constructing Tennis Tournaments

The technique of divide-and-conquer has widespread applicability. not only in
algorithm design but in designing circuits, constructing mathematical proofs
and in other walks of life. We give one example as an illustration. Consider

the design of a round robin tennis tournament schedule, for n = 2* players.
Each player must play every other player, and each player must play one
match per day for u—l days, the minimum number of days needed to com-
plete the tournament.

The tournament schedule is thus an :1 row by 31—1 column table whose

entry in row i and column j is the player i must contend with on the j‘“ day.
The divide-and-conquer approach constructs a schedule for one-half of the

players. This schedule is designed by a recursive application of the algorithm
by finding a schedule for one half of these players and so on. When we get
deem to two players. we have the base case and we simply pair them up.

SuppOse there are eight players. The schedule for players l through 4 fills
the upper left corner {4 rows by 3 columns) of the schedule being constructed.
The lower left corner (4 rows by 3 columns) of the schedule must pit the high

numbered players (5 through 8) against one another. This subschedule is
obtained by adding 4 to each entry in the upper left.

We have now simplified the problem. All that remains is to have lower-

numbered players play high-numbered players. This is easily accomplished by
having players I through 4 play 5 through 8 respectively on day 4 and cycli-
cally permuting 5 through 8 on subsequent days. The process is illustrated in
Fig. 10.4. The reader should now be able to generalize the ideas of this fig-

ure to provide a schedule for 2" players for any It.

Balancing Subprohlems

In designing algorithms one is always faced with various trade-offs. One rule

that has emerged is that it is generally advantageous to balance competing
costs wherever possible. For example in Chapter 5 we saw that the 2-3 tree
balanced the costs of searching with those of inserting, while more straightfor»
ward methods take 0(a) steps either for each lockup or for each insertion,
even though the other operation can be done in a constant number of steps.

Similarly, for divide-and~conquer algorithms, we are generally better off if
the subprobtems are of approximately equal size. For example, insertion sort
can be viewed as partitioning a problem into two subproblems, one of size 1
and one of size n—l. with a maximum cost of 11 steps to merge. This gives a
recurrence

T01) = TU) + T(nr-1]+ n

which has an 0(n2) solution. Mergesort, on the other hand. partitions the
problems into two subproblerns each of size 11/2 and has 0(nlogn) perfor-
mance. Asa general principle. we often find that partitioning a problem into
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Fig. 10.4. A round-robin tournament for eight players.

equal or nearly equal subproblems is a crucial factor in obtaining good perfor-
manee.

10.2 Dynamic Programming

Often there is no way to divide a problem into a small number of subproblems
whose solution can be combined to solve the original problem. In such cases
we may attempt to dIVide the problem into as many subproblems as necessary.
divide each subproblem into smaller subproblems and so on. If this is all we
do. we shall likely wind up with an eitponential-time algorithm.

Frequently. however, there are only a polynomial number of subproblems.
and thus we must be solving some subptoblem many times. If instead we
keep track of the solution to each subproblem solved, and simply look up the
answer when needed. we would obtain a polynomial-time algorithm.

It is sometimes simpler from an implementation point of view to create a
table of the solutions to all the subproblems we might ever have to solve. We
fill in the table without regard to whether or not a particular subproblem is
actually needed in the overall solution. The filling-in of a table of suhprob—
items to get a solution to a given problem has been termed dynamic program-
ming. a name that comes from control theory.

The form of a dynamic programming algorithm may vary. but there is the
common thetne of a table to fill and an order in which the entries are to be

filled. We shall illustrate the techniques by two examples, calculating odds on
a match like the World Series, and the ”triangulation problem.”
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World Serles Odds

Suppose two teams, A and B, are playing a match to see who is the first to
win in games for some particular it. The World Series is such a match, with

n = 4. We may suppose that A and B are equally competent, so each has a
50% chance of winning any particular game. Let PH. j) be the probability
that if A needs t' games to win, and 3 needs 1' games, that A will eventually
win the match. For example, in the World Series, if the Dodgers have won
two games and the Yankees one, then 1' == 2, j = 3, and PG, 3), we shall dis-
cover, is lltlb.

To compute PH. 1'}, we can use a recurrence equation in two variables.
First, if 1= 0 and j> 0. then team A has won the match already. so
Pm, j} = 1. Similarly. Hi, 0) = (l for t‘ > 0. If t' and j are both greater
than I), at least one more game must be played, and the two teams each win
half the time. Thus, PU. j) must be the average of P(i-—l, j] and PU. j—l),
the first of these being the probability A will win the match if it wins the next
game and the second being the probability A wins the match even though it
loses the next game. To summarize:

P(i,j)=1ifi=03ndj>0

=0 itieoandj=o

=(P(t‘—l,j]+P(|',j-l)]:‘2 iri>0andp~o (10.4}

If we use (10.4) recursively as a function, we can show that Ptt‘, j) takes
no more than time 0(2' +1 ). Let flu) be the maximum time taken by a call to
PU. j), where i+j = n. Then from (10.4),

T“) = c

Tm) = 2T(n—l)+d

for some constants c and d. The reader may check by the means discussed in
the previous chapter that Ho) 5 2’Hc + (Zn-I‘Dd, which is 0(2") or
0(2‘”). .

We have thus proves an exponential upper bound on the time taken by
the recursive computation of PU, j). However, to convince ourselves that the

recursive formula for PG, j) is a bad way to compute it, we need to get a

big-omega lower bound. We leave it as an exercise to show that when we call

PU, j}. the total number of calls to P that gets made is (iii), the number of
ways to choose t‘ things out of t'+ '. If t' = j, that number is (ETA/TI). where
n = H}. Thus, T02) is (mm/i), and in fact, we can show it is 0(2"N’;)
also. While TIN/h grows asymptotically more slowly than 2", the difference
is not great. and T01) grows for too fast for the recursive calculation of PU, j)
to be practical.

The problem with the recursive calculation is that we wind up computing
the same P0", j} repeatedly. For example. if we want to compute P(2, 3), we
compute, by (10.4). PH, 3) and P12, 2). PH, 3) and P(2, 2) both require
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the computation of Pt]. 2], so we compute that value twioc.
A better way to compute P(t'.j) is to fill in the table suggested by Fig.

10.5. The bottom row is all (J's and the rightmost column all 1's by the first
two lines of (10.4). By the last line of (10.4), each other entry is the average

of the entry below it and the entry to the right. Thus, an appropriate way to
fill in the table is to proceed in diagonals beginning at the lower right corner,
and proceeding up and to the left along diagonals representing entries with a

constant value of 1-”, as suggested in Fig. 10.6. This program is given in
Fig. 10.7, assuming it works on a two-dimensional array P of suitable size.

 
 

Fig. 10.5. Table of odds.

Fig. 10.6. Pattern of computation.

The analysis of function odds is easy. The loop of lines (4]—(5} takes
0(5) time, and that dominates the 0(1) time for lines [23—(3). Thus, thePl

outer loop takes time 0(2r} or 0013), where i+j = n, Thus dynamic pro-3-!
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function odds ( t’, j: integer ) : real;
var

r. k: integer:
begin

(1) ior31=lto£+jdohegin
{ compute diagonal of entries whose indices sum to s }

(2} FIG. cl := 1.0:

{3) PIE, 0] := 0.0;

(4} l'ork:= ltos—ldo
(5} P[.‘:, 3-4:] := (PHI-1, 5—1:] + PM. s—k-l])/2.0

end;

(6) return (Pfi, j])
end; { odds }

Fig. 10.7. Odds calculation.

gramming takes Otnzl time. compared with Qty/Vii) for the straightforward
approach. Since 2"th growe wildly faster than n2. we would prefer dynamic
programming to the recursive approach under essentially any circumstances.

The Triangulation Problem

As another example of dynamic programming. consider the problem of tri-
negotiating a polygon. We are given the vertices of a polygon and a distance
measure between each pair of vertices. The distance may be the ordinary

(Euclidean) distance in the plane, or it may be an arbitrary cost function given
by a table. The problem is to select a set of chord: (lines between nonadja-
cent vertices) such that no two chords cross each other, and the entire polygon

is divided into triangles. The total length (distance between endpoints) of the
chords selected must be a minimum. We call such a set of chords a minimal

triangulation.

Example ".1. Figure 10.8 shows a seven-sided polygon and the (x. y) coor-
dinates of its vertices. The distance function is the ordinary Euclidean dis-

tance. A triangulation, which happens not to be minimal, is shown by dashed

lines. 113 cost is the sum of the loo this of the chords v0, trg}I gun, V3).
(v0, v5], and (v3. v5), or VBMIGi + 152+162 + 22 +21 + V? +14 =
17.56. to

As well as being interesting in its own right. the triangulation problem has
a number of useful applications. For example. Fuchs, Kedem. and Uselton
[1977] used a generalization of the triangulation problem for the following
purpose. Consider the problem of shading a two-dimensional picture of an
object whose surface is defined by a collection of points in 3-spaoe. The light
source comes from a given direction, and the brightness of a point on the sur—
face depends on the angles between the direction of light. the direction of the

viewer‘s eye. and a perpendicular to the surface at that point. To estimate the
direction of the surface at a point, we can compute a minimum triangulation
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(8.26} (15.26)

00.0)

Fig. 10.8. A heptngoo and a triangulation.

ol' the points defining the surface.
Each triangle defines a plane in a 3-space, and since a minimum triangula-

tion was found. the triangles are expected to be very small. It is easy to find

the direction of a. perpendicular to a plane. so we can compute the light inten-

sity for the paints of each triangle. on the assumption that the surface can be
treated as a triangular plane in a given region. If the triangles are not suffi-
ciently small to make the light intensity look smooth. then local averaging can
improve the picture.

Before proceeding with the dynamic programming solution to the triangu-
lation problem. let us state two observations about triangulation that will help
us design the algorithm. Throughout we assume we have a polygon with n
vertices v0. vi. . . . .v.._., in clockwise order.

Fact 1. In any triangulation of a polygon with more than three verticcs. every
pair of adjacent vertices is touched by at least one chord . To see this. suppose
neither v; nor VHIT were touched by a chord. Then the region that edge
(‘3'- Vi+lJ bounds would have to include edges (in... w), (v.4... I’M-1) and at

least one additional edge. This region then would not be a triangle.

Fact 2. If (v.-. v_.-) is a chord in a triangulation. then there must be some v...

1' In what follows. we take all subscripts to be computed modulo n. Thus. in Fig. mil. v,
and in” , could be we and v0. respectively. since it = "I.
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such that (v,, vi) and (vi, to) are each either edges of the polygon or chords.
Otherwise. (w. Vi) would bound a region that was not a triangle.

To begin searching for a minimum triangulation. we pick two adjacent
vertlces, any v0 and V]. By the two facts we know that in any triangulation,
and therefore in the minimum triangulation, there must be a vertex it; such
that (v1, vk} and (vk, vo) are chords or edges in the triangulation We must

therefore consider how good a triangulation we can find after selecting each
possible value for lc. If the polygon has n vertices, there are a total of {rt-2)
choices to make.

Each choice of It leads to at most two sabproblems. which we define to be
polygons formed by one chord and the edges in the original polygon from one

end of the chord to the other. For example, Fig. 10.9 shows the two suhprob-
lems that result if we select the vertex V3.

0 (a)

 
Fig. 10.9. The two subproblems after selecting v3.

Next. we must find minimum triangulationa for the polygons of Fig.
10.9(a) and (b). Our first instinct is that we must again consider all chords

emanating from two adjacent vertices. For example. in solving Fig. 10.9(b),
we might consider choosing chord (v3, v5), which leaves sohproblem
(vu, v3, v5, v6), a polygon two of whose sides. (v0, v3} and (v3, v5), are chords
of the original polygon. This approach leads to an exponential-time algo-
rithm.

However. by considering the triangle that involves the chord (v9. vi) we
never have to consider polygons more than one of whose sides are chords of
the original polygon. Fact 2 tells us that. in the minimal triangulation. the
chord in the subprohlem, such as (v0, v3) in Fig. 10.9(b), must make a trian~
gle with one of the other vertices. For example. if we select vs. we get the
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triangle (v0. 93, us) and the subproblem [V0, v4. v5. v5) which has only one

chord of the original polygon. If we try us. we get the subproblems
[u], v4, v5} and (v9, v5. 1:6), with chords (v3, v5] and {um us) only.

In general, define the subprobiem of size 3 beginning at vertex v,, denoted

31,. to be the minimal triangulation problem for the polygon formed by the 3

vertices beginning at v; and proceeding clockwise. that is. ”h vi“, . . . .Vm—t-
Thc chord in Si, is (v5. vi+,_.). For example. Fig. “19(3) is $04 and Fig.
[0.9ib) is 535. To solve Sf: we must consider the following three options.

I. We may pick vertex v;+,_; to make a triangle with the chords (vi, vi+,_l)
and (vi. v;+,_2) and third side (vfirg. icy-“-0. and then solve the sub»

problem Shel.

2. We may pick vertex v”. to make a triangle with the chords (vi, v,-+,_l}
and (rm, viHHJ and third side (v1, um). and then solve the subproblem
Si-l [.s- I‘

3. For some it between 2 and 3‘3 we may pick vertex um and form a trian-
gle with sides (vi. vi”). ("H-i. v,-+,_.). and (v.3 UHF.) and then solve sub-
pTObIems 3m t] and Sum—t-

if we remember that “solving" any subproblem of size three or less
requires no action. we can summarize (l)—(3) by saying that we pick some it
between I and s—2 and solve subproblcms SM... and Si-Ivi-J-k- Figure 10.10
illustrates this division into subproblems.

Fig. 10.10. Division of Sn into subproblerns.

If we use the obVious recursive algorithm implied by the above rules to
solve subproblems of size four or more, then it is possible to show that each
call on a subprohlem of size .5 gives rise to a total of 3““ recursive calls, if we

“solve“ subproblems of size three or less directly and count only calls on
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subproblems of size four or more. Thus the number of subproblems to be
solved is exponential in .9. Since our initial problem is of size n, where n is the
number of vertices in the given polygon, the total number of steps performed
by this recursive procedure is exponential in it.

Yet something is clearly wrong in this analysis, because we know that
besides the original problem, there are only n(n-4) different subproblems
that ever need to be solved. They are represented by S“, where 0 S r' < n
and 4 S .r < n. Evidently not all the subproblems solved by the recursive
procedure are different. For example, if in Fig. 10.8 we choose chord
(v0, v3), and then in the subproblem of Fig. l0.9(b) we pick v4, we have to
solve subproblem S44. But we would also have to solve this problem if we
first picked chord (v0, v4), or if we picked (v1, v4) and then, when solving
subproblem S45, picked vertex v0 to complete a triangle with v, and 124.

This suggests an efficient way to solve the triangulation problem. We
make a table giving the cost CL. of triangulating Si; for all i and 5. Since the

solution to any given problem depends only on the solution to» problems of
smaller size, the logical order in which to fill in the table “Mill size order.

That is, for sizes s = 4, 5, . . . ,n-l we fill in the minimumnpost for prob-
lems Sm for all vertices I. it is convenient to include problems of size
0 s s < 4 as well, but remember that Sis has cost 0 if s < 4.

By rules (l)—(3) above for finding subproblems, the formula for comput-
ing Cg for s a 4 is:

6.. = min [Ci.k+1+ Cr+t,s—t + 0m, V141.) + D(Vi+r- we- 1)] (10.5)lSkss-Z

where D(vp, vq) is the length of the chord between vertices vp and v,,, if vp

and Pa. are not adjacent points on the polygon; D(vp, vq) is 0 if vp and vq are
adjacent.

Example 10.2. Figure 10. ll holds the table of costs for Sm for 0 s i S 6 and
4 s s s 6, based on the polygon and distances of Fig. 10.8. The costs for the
rows with s < 3 are all zero. We have filled in the entry C07, in column 0
and the row for s = ‘7. This entry, like all in that row, represents the triangu-
lation of the entire polygon. To see that, just notice that we can, if we wish,
consider the edge (v0, v6) to be a chord of a larger polygon and the polygon

of Fig. 10.8 to be a subproblem of this polygon, which has a series of addi-
tional vertices extending clockwise from v6 to v“. Note that the entire row for
s = 7 has the same value as C07, to within the accuracy of the computation.

Let us, as an example, show how the entry 38.09 in the column for i = 6

and row for s = 5 is filled in. According to (10.5) the value of this entry,
C65, is the minimum of three sums, corresponding to k = l, 2, or 3. These
sums are:

C62 + C04 + DUJG, V0) + D(V0, V3) r

C63 +Cl3 +D(V6,Vl)+D(V1,V3)

C64 ‘i' C22 + D(V6, v2) + D(V2, VJ)
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Fig. 10.11. Table of Chis.

The distances we need are calculated from the coordinates of the vertices as:

Bil-‘2» V3] = Dive. V0} ‘3 0

(since these are polygon edges. not chords. and are present "for free“)

0025, 1’3} = 26.08

val. v;) —- 16.16

vafi, v1) = 22.36

Ditto, v3) ; 21.93

The three sums above are 38.09, 38.52, and 43.97. respectively. We may
conclude that the minimum cost of the subproblent Sag is 38.09. Moreover,
since the first sum was smallest. we know that to achieve this minimum we

must utilize the subproblems 3.52 and $04. that is. select chord tvn. v3} and
then solve SM as best we can; chord {v}, Va) is the preferred choice for that
subproblem. 0

There is a useful trick for filling out the table of Fig. [0.1] according to
the formula “0.5). Each term of the min operation in [10.5) requires a pair
of entries. The first pair. for k = i, can he found in the table (a) at the “bot-

tom" (the row for s = 2,11“ of the column of the element being computed. and
(b) just helow and to the righti of the element being computed. The second
pair is (it) next to the bottom of the column. and (13) two positions down and
to the right. Fig. 10.12 shows the two lines of entries we follow to get all the
pairs of entries we need to consider simultaneously. The pattern — up the 

1 Remember that the table of Fig. ILLII has rows of 0's below lhose shown.
17 By “In the right“ we mean in the sense of a table that wraps around. Thus. it‘ we are at
the rightmost column, the column "to the right" is the leftmost column.
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column and down the diagonal — is a common one in filling tables during
dynamic programming.

 
Fig. 10.12. Pattern of table scan to Compute one element.

Finding Solutions from the Table

While Fig. [0.” gives us the cost of the minimum triangulation, it does not

immediately give us the triangulation itself. What we need, for each entry. is
the value of k that produced the minimum in “0.5). Then we can deduce that
the solution consists of chords ("in vi”). and (tn-fl, 1'5”-..) (unless one of
them is not a chord, because it = l or it = 5-2). plus whatever chords are

implied by the solutions to SLHI and Stem-» [t is useful. when we compute
an element of the table. to include with it the value of k that gave the best
solution.

Example 10.3. in Fig. 10.1l. the entry Cm. which represents the solution to
the entire problem of Fig. [0.8, comes from the terms for k = 5 in (10.5).
That is, the problem Sm is split into S“, and $52: the former is the problem

with Silt. vertices v0, v1, . . . ,v5. and the latter is a trivial "problem" of oust
0. Thus we introduce the chord (v0. v5) of cost 22.09 and must solve 595.

The minimum cost for Cm comes from the terms for It = 2 in (10.5).

whereby the problem Sm is split into Sm and SM. The former is the triangle
with vertices v9, v1. and v1. while the latter is the quadrilateral defined by
v2, v3, u. and us. So; need not be solved. but 31.1 must be, and We must
include the costs of chords (v0, v1) and {V}. us] which are 17.89 and 19.81].
respectively. We find the minimum value for C1,. is assumed when k = l in
(10.5). giving us the subproblems C22 and C33. both of which have size less
than or equal to three and therefore cost 0. The chord (v3, v5) is introduced.
with a cost of 15.65. El '
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Fig. 10.13. A minimal cost triangulation.

10.3 Greedy Algorithms

Consider the problem of making change. Assume coins of values 25¢ {quar-
ter}, 10¢ (dime), Se (nickel) and 1e (penny), and suppose we want to return
630! in change. Almost without thinking we convert this amount to two quar-
ters, one dime and three pennies. Not only were we able to determine quickly
a list of coins with the correct value. but we produced the shortest list of coins
with that value.

The algorithm the reader probably used was to select the largest coin

whose value was not greater than 63¢ (a quarter), add it to the list and sub-
tract its value from 6?- getting 33¢. We then selected the largest coin whose
value was not greater than 38¢ (another quarter) and added it to the list, and
so on.

This method of making change is a greedy algorithm. At any individual
stage a greedy algorithm selects that option which is “locally optimal" in some
particular sense. Note that the greedy algorithm for making change produces
an overall optimal solution only because of special properties of the coins. [f
the coins had values In, 5¢. and 11¢ and we were to make change of 15¢ ,
the greedy algorithm would first select an 11¢ coin and then four It: coins,
for a total of five coins. However, three 5e coins would suffice.

We have already seen several greedy algorithms. such as Dijkstra’s shor-
test path algorithm and Kruskal’s minimum cost spanning tree algorithm.
Dijkstra‘s shortest path algorithm is ”greedy" in the sense that it always
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chooses the closest vertex to the source among those whose shortest path is
not yet known. Kruskal‘s algorithm is also "greedy"; it picks from the
remaining edges the shortest among those that do not create a cycle.

We should emphasize that not every greedy approach succeeds in produc-
ing the best result overall. Just as in life. a greedy strategy may produce a
good result for a while, yet the overall result may be poor. As an example.
we might consider what happens when we allow negative-weight edges in
Dijkstra's and Kruskal‘s algorithms. It turns out that Kruskal‘s spanning tree
algorithm is not affected; it still produces the minimum cost tree. But
Dijkstra‘s algorithm fails to produce shortest paths in some cases.

Example 10.4. We see in Fig. 10.14 a graph with a negative cost edge
between I: and c. If we apply Dijkstra's algorithm with source s, we correctly
discover first that the minimum path to a has length 1. Now, considering

only edges from .r or a to b or c. we expect that b has the shortest path from
3. namely s - a - b, of length 3. We then discover that c has a shortest path
from s of length l.

 
Fig. 10.14. Graph with negative weight edge.

However, our "greedy" selection of h before c was wrong from a global
point of view. It turns out that the path s -a - r: - b has length only 2. so
our minimum distance of 3 for b was wrongl El

Greedy Algorithms as Heuristics

For some problems no known greedy algorithm produces an optimal solution.
yet there are greedy algorithms that can be relied upon to produce “good"

solutions with high probability. Frequently, a suboptimal solution with a coast
a few percent above optimal is quite satisfactory. In these cases, a greedy
algorithm often provides the fastest way to get a “good" solution. in fact, if
the problem is such that the only way to get an optimal solution is to use on

T In fact. We should be careful what we mean by "shortest path" when there are negative
edges. If we allow negative cost cycles, then We could traverse such a cycle repeatedly to
get arbitrarily large negative distances. so presumably we want to restrict ourselves to any-
clic paths.
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exhaustive search technique, then a greedy algorithm or other heuristic l'or

getting a good. but not necessarily optimal. solution may be our only real
choice.

Example 105. Let us introduce a famous problem where the only known
algorithms that produce optimal solutions are of the "try-all—possibililies"
variety and can have running times that are exponential in the size of the
input. The problem, called the traveling salesman problem, or TSP, is to find,

in an undirected graph with weights on the edges, a tour (a simple cycle that
includes all the vertices) the sum of whose edge-weights is a minimum. A

tour is often called a Hamilton (or Hamiltonian) cycle.
Figure 10.lfi(_a) shows one instance of the traveling salesman problem. a

graph with six tertices (often called “cities"]. The coordinates of each vertex
are given. and we take the weight of each edge to be its length. Note that, as
is conventional with the TSP, we assume all edges exist. that is. the graph is

complete. In more general instances, where the weight of edges is not based
on Euclidean distance. we might find a weight of infinity on an edge that
really was not present.

Figure lU.lS(b)-—(e) shows four tours of the six “cities" of Fig. it]. ljta).

The reader might ponder which of these fear, if any, is optimal. The lengths
of these four tours are 50.00, 49.73, 48.39. and 49.78. respectively; ((1) is the

shortest of all possible tours.

e um) do(15,7)

e I {15,4}
“(4,3)

a o(0.0) f0 (13.0)

(a) six “cities“

(it) {C}

(d) (a)

Fig. 10.15. An instance of the traveling salesman problem.

The TSP has a number of practical applications. As its name implies, it
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can be used to route a person who must visit a number of points and return to
his starting point. For example. the TSP has been used to route collectors of
coins from pay phones. The vcrticcs are the phones and the “borne base."
The cost of each edge is the travel time between the two points in question.

Another “application“ of the TSP is in solving the knight's tour problem:
find a sequence of moves whereby a knight can visit each Square of the chess-
board exactly once and return to its starting point. Let the verticcs be the
chessboat‘d squares and let the edges between two squares that are a knight's
move apart have weight 0; all other edges have weight infinity. An optimal

tour has weight 0 and must be a knight's tour. Surprisingly. good heuristics
for the TSP have no trouble finding knight's tours. although finding one "by
hand" is a challenge.

The greedy algorithm for the TSP we have in mind is a variant of

Kruskal’s algorithm. Like that algorithm. we shall consider edges shortest
first. In Kruskal‘s algorithm we accept an edge in its turn if it tines not form
a cycle with the edges already accepted. and we reject the edge otherwise.
For the TSP. the acceptance criterion is that an edge under consideration,

together with already selected edges,

1. does not cause a vertex to have degree three or more. and

2. does not form a cycle. unless the number of selected edges equals the
number of verticcs in the problem.

Collections of edges selected under these criteria will form a collection of

unconnected paths, until the last step, when the single remaining path is
closed to form a tour.

In Fig. ltlJSta}. we would first piclt edge (at. 9), since it is the shortest,
having length 3. Then we consider edges (b, c}. (a, b), and (e. I}. all of
which have length 5. it doesn‘t matter in which order we consider them; all
meet the conditions for selection, and we must select them if we are to follow

the greedy approach. Next shortest edge is (a. c}, with length 7.08. How-
ever, this edge would form a cycle with (a. b) and (b. c). so we reject it.
Edge ((1. f) is next rejected on similar grounds. Edge (b. e) is next to be com
sidered, but it must be rejected because it would raise the degrees of it and e
to three. and could then never form a tour with what we had selected. Simi-

larly we reject (b. :1). Next considered is (c, d], which is accepted. We now
have one path. a a b —-_.r 4 Li a e af. and eventually accept (a. j] to complete
the tour. The resulting tour is Fig. l0.15tbl. which is fourth best of all the
tours. but less than 4% more costly than the optimal. D

10.4 Baclttracking

Sometimes we are faced with the task of finding an optimal solution to a prob-
lem. yet there appears to be no applicable theory to help us find the optimum.
except by resorting to exhaustive Search. We shall devote this section to a
systematic, exhaustive searching technique called backtracking and a technique

called alpha-beta pruning, which frequently reduces the search substantially.
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Consider a game such as chess. checkers, or tic-tac-toe. where there are
two players. The players alternate moves. and the state of the game can be
represented by a board position. Let us assume that there are a finite number
of board positions and that the game has some sort of stopping rule to ensure
termination. With each such game, we can associate a tree called the game

tree. Each node of the tree represents a. board position. With the root we

associate the starting position. 11' board position Jr is associated with node n,
then the children of rt correspond to the set of allowable moves from board
position x. and with each child is associated the resulting hoard position. For

example, Fig. 10.16 shows part of the tree for tic-tac—toe.

/X moves /

X moves ‘ :l
x

o
o

/ l
X
o
o

x

o

1

x x x x

Omoves o x
D I] O

/
M

m 03*
/I H-1\

xox x in sex x x

Xmoves x o x n so 0 o
o o ooo care use

a] —l 0| ll

G>¢>E Dfixo 00k crass-t :10 case can x33: 00>:
D _.

Fig. 10.16. Part of the tic-tac-toe game trees

The leaves of the tree correspond to board positions where there is no

move. either because one of the players has won or because all squares are
filled and a draw resulted. We associate a value with each node of the tree.
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First we assign Values to the leaves. Say the game is tic-tao-toc. Then a leaf

is assigned -l. (J or 1 depending on whether the board position corresponds
to a loss, draw or win for player 1 {playing X).

The values are propagated up the tree according to the following rule. It“
a node corresponds to a board position where it is player 1‘s move. then the
value is the maximum of the values of the children of that node. That is. we

assume player i will make the move most favorable to himself i.e., that which

produces the highest-Valued outcome. It the node corresponds to player 2's
move, then the value is the minimum of the values of the children. That is,

we assume player '2 will make his most favorable move. producing a loss for
player 1 if possible. and a draw as next preference.

Example 10.6. The values of the boards have been marked in Fig. 10.16.
The leaves that are wins for 0 get value *1, while those that are draws got 0.

and wins for X get +1. Then we proceed up the tree. 0n level 8, where only
one empty square remains. and it is X‘s move, the values for the unresolved
boards is the “maximum" of the one child at level 9.

On level 7, where it is 0‘s move and there are two choices, we take as a
value for an interior node the minimum of the values of its children. The left-

mOst board shown on level 7 is a leaf and has value 1. because it is a win for

X. The second board on level 7 has value minttl, *1) = —1, while the third
board has value mintfl. l) = D. The one board shown at level 6. it being X's
move on that level, has value max“, *- l . D) = 1. meaning that there is some

choice X can make that will will; in this case the win is immediate. El

Note that if the root has value 1, then player 1 has a winning strategy.
Whenever it is his turn be is guaranteed that he can stated a move that leads

to a board position of value 1. Whenever it is player 2's move he has no real
choice but to select a moving loading to a board position of value 1, a loss for
him. The fact that a game is assumed to terminate guaranteES an eventual

win for the first player. if the root has value 0, as it does in tic-tac-toe, then
neither player has a winning Strategy but can only guarantee himself a draw
by playing as well as possible. If the root has value -1. then player 2 has a
winning strategy.

Payoff Functions

The idea of a game tree. where nodes have values *1. 0, and t. can be gen-
eralized to trees where leaves are given any number (called the payofl‘) as a
value. and the same rules for evaluating interior nodes applies: take. the malt-

imum of the children on those levels where player 1 is to move, and the
minimum of the children on levels where player 2 moves.

As an example where general payoffs are useful. consider a complex
game, like chess. where the game tree. though finite, is so huge that evaluat-
ing it from the bottom up is not feasible. Chess programs work. in essence.
by building for each board position from which it must move. the game tree
with that board as root, extending downward for several levels: the exact
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number of levels depends on the speed with which the computer can work.
As most of the leaves of the tree will he ambiguous. neither wins, losses. nor

draws. each program uses a function of board positions that attempts to esti-
mate the probability of the computer winning in that position. For example,
the difference in material figures heavily into such an estimation, as do such
factors as the defensive strength around the kings. By using this payoff func—

tion, the computer can estimate the probability of a win after making each of
its possible next moves. on the assumption of subsequent best play by each
side. and chose the move with the highest payoff .i

Implementing Backtrack Search

Suppose we are given the rules for a game}: that is. its legal moves and rules
for termination. We wish to construct its game tree and evaluate the root.
We could construct the tree in the obvious way, and then visit the nodes in

postorder. The postorder traversal assures that we visit an interior node it
after all its children, whereupon we can evaluate it by taking the min or max
of the values of its childrenF as appropriate.

The space to store the tree can be prohibitively large, but by being careful
we need never store more than one path. from the root to some node, at any
one time. In Fig. 10.]? we see the sketch of a rccursch program that
represents the path in the tree by the sequence of active procedure calls at any
time. That program assumes the following:

i. Payofl‘s are real numbers in a limited range, for example *1 to +l.

2. The constant 00 is larger than any positive payoff and its negation is
smaller than any negative payoff.

3. The type modetype is declared

type

modetype = (MIN. MAX}

4. There is a type boardtype declared in some manner suitable for the
representation of board positions.

5. There is a function payofi' that computes the payoff for any board that is a
isqf(i.e., won. lost, or drawn position).

T Incidentally, some of the other things good chessplaying programs do are?
|. Use heuristics to eliminate from consideration certain moves that are unlikely to be good.

This helps expand the tree to more levels in a fixed time.
2. Expand “capture chains”. which are sequences of capturing moves beyond the last level to

which the tree is normally expanded. This helps estimate the relative material strength of po-
sitions more accurately.

3. Prune the lree search by alpha-beta pruning. as discuss: later in this section.
1: We should not imply that only "games" can be solved in this manner, As we shall see
in subsequent examples. the "game" could really represent the solution to a practical
problem.
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function search ( B: hoardtype: mode: modetype } : real:
{ evaluates the payoff for board B. assuming it is

player l's move if mode = MAX and player 2's move
if mode = MIN. Returns the payoff }

var

C: boardtype; { a child of board H ]
value: real; { temporary minimum or maximum value }

begin
(1) Iffl is a leafthen
(2) return (payofi'wl)

else begin
{ initialize minimum or maximum value of children }

{3) if mode = MAX then

(4) value := #00
else

(5) value := 90;

(6) for each child C of board 8 do
(7) if mode = MAX then

(8) value := maxtvaltte. searcMC. MINI)
else

(9) value := min(valtte. searcMC, MAX”;

(l0) return (voila)
end

end; { search }

Fig. 10.11. Recursive backtrack search program.

Another implementation we might consider is to use a nonrecursive pro-
gram that keeps a stack of boards corresponding to the sequence of -‘=.ctivc calls
to search. The techniques discussed in Section 2.6 can be used to construct
such a program.

Alpha-Beta Pruning

There is a simple observation that allows us to eliminate from consideration
much of a typical game tree. In terms of Fig. 10.17, the for-loop of line (6)

can skip over certain children. often many of the children. Suppose we have a
node n, as in Fig. [0.13; and we have already determined that c.. the first of
”'8 children. has a value of 20. As it is a max node, we ltuow its value is at '

least 20. Now suppose that continuing with our search we find that rl, a child
of c; has value 15. As c1. another child of n. is a min node. we know the
value of c: cannot exceed 15. Thus, whatever value c; has. it cannot affect
the value of n or any parent of n.

It is thus possible in the situation of Fig. 10.18, to skip consideration of
the children of c; that we have not already examined. The general rules for
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Fig. 10.18. Pruning the children of a node.

skipping or ”pruning" nodes involves the notion of final and tentative values
for nodes. Thefimr! value is what we have simply been calling the “value." A

tentative value is an upper bound on the value of a min node. or a lower
bound on the value of a max node. The rules for computing final and tenta-
tive values are the following.

1. if all the children of a node n have been considered or pruned. make the
tentative Value ofn final.

2. If a max node n has tentative value v1 and a child with final value v3, then
set the tentative value of n to mait(v,, 93}. [f a is a min node, set its ten-
tative value to min(v,. v2}.

3. pr is a min node with parent q (a max node), and p and 4 have tentative
values v, and v2, respectively, with "I 5 v2, then we may prune all the

unconsidered children of p. We may also prune the unconsidered children
ofp ifp is a max node (and therefore :3 is a min node) and v2 5 in.

Example 10.7. Consider the tree in Fig. 10.19. Assuming values for the

leaves as shown, we wish to calculate the value for the root. We begin a post-
order traversal. After reaching node D, by rule (2} we assign a tentative
value of 2. which is the final value of D. to nude 6'. We then search E and
return to C and then to B. By rule (1), the final value of C is fixed at 2 and

- the value of B is tentatively set to 2. The search continues down to G and
then back to F. The value F is tentatively set to 6. By rule (3), with p and q

. equal to F and B. respectively. we may prune H. That is, there is no need to
.seatch node H , since the tentative value of F can never decrease and it is

already greater than the value of B, which can never increase.
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max

min

max 
Fig. 10.19. A game tree.

Continuing our example. A is assigned a tentative value of 2 and the
search proceeds to K. J is assigned a tentative value of 8. L does not deter-
mine the value of max node J. I is aseigned a tentative value of 8. The search
goes down to N. and M is assigned a tentative value of 5. Node 0 must be
searched, since 5. the tentative value of M, is less than the tentative value of
I. The tentative values of I and A are revised, and the search goes down to R.

Eventually R and S are searched. and P is assigned a tentative value of 4. We
need not search T or below, since that can only lower P‘s value and it is
already too low to affect the value ot‘A. Li

Brunch-and-Bound Search

Games are not the only sorts of "problems“ that can be solved exhaustively by

searching a complete tree of possibilities. A wide variety of problems where
we are asked to find a minimum or maximum configuration of some sort are

amenable to solution by backtracking search over a tree of all possibilities.
The nodes of the tree can he thought of as sets of configurations, and the chil-
dren of a node a each represent a subset of the configurations that n
represents. Finally, the leaves each represent single configurations, or solu-
tions to the problem, and we may evaluate each such configuration to see if it
is the beat solution found so far.

If we are reasonably clever in how we design the search. the children of a

node will each represent far fewer configurations than the node itself, so we
need not go to too great a depth before reaching leaves. Lest this notion of

searching appear too vague. let us take a concrete example.

Example 10.8. Recall from the previous section our discussion of the
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traveling salesman problem. There we gave a "greedy algorithm” for finding
a good but not necessarily optimum tour. Now let us consider how we might
find the optimum tour by systematically considering all tours. One way is to
consider all permutations of the nodes, and evaluate the tour that visits the
nodes in that order, remembering the best found so far. The time for such an

approach is 001'.) on an n node graph, since we must consider (rt—l}! dif-
ferent permutations,'l' and each permutation takes 0(a) time to evaluate.

We shall consider a somewhat different approach that is no better than
the above in the worst case, but on the average. when coupled with a tech—
nique called "branch-and—bound" that we shall discuss shortly, produces the
answer far more rapidly than the “try all permutations" method. Start con-

structing a tree, with a root that represents all tours. Tours are what we
called “configurations" in the prefatory material. Each node has two chil-
dren, and the tours that a node represents are divided by these children into
two groups —-— those that have a. particular edge and those that do not. For
example, Fig. 10.20 shows portions of the tree for the TSP instance from Fig.
l0.15(a).

In Fig. 10.20 we have chosen to consider the edges in lexicographic order
(a. b), (a, c). . . . ,(a,f), (b. c), . . . .(h,fi, (e. d), and so on. We could,

of course pick any other order. Observe that not every node in the tree has
two children. We can eliminate some children because the edges selected do

not form part of a tour. Thus. there is no node for "tours containing
(a, b), to. c), and (a, d),“ because a would have degree 3 and the result
would not be a tour. Similarly. as we go down the tree we shall eliminate

some nodes because some city would have degree loss than 2. For example,
we shall find no node for tours without (a, b}, (a, c), (o. d). or (a. e]. U

Bounding Heuristics Needed for Branch-and-Bound

Using ideas similar to those in alpha-beta pruning, we can eliminate far more
nodes of the search tree than would be suggested by Example 10.8. Suppose,
to be specific. that our problem is to minimize some function. e.g., the cost of

a tour in the TSP. Suppose also that we have a method for getting a lower
bound on the cost of any solution among [hose in the set of solutions
represented by some node it. If the best solution found so far costs less than

the lower bound for node n, we need not explore any of the nodes below :1.

Example 10.9. We shall discuss one way to get a lower bound on certain sets
of solutions for the TSP, those sets represented by nodes in a tree of solutions
as suggested in Fig. 10.20. First of all, suppose we wish a lower bound on all
solutions to a given instance of the TSP. Observe that the cost of any tour
can be expressed as one half the sum over all nodes :1 of the cost of the two
tour edges adjacent to n. This remark leads to the following rule. The sum

T Note that we need not consider all n! permutations. since the starting point of a tour is
immaterial. We may therefore consider only those permutations that begin with t.
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all
IOUIS

tours

without

(a. 5) 
 

tours

with

(a, b) not (a, c)

tours

with

(a, b) and (a, c)

  
  

tours with tours with tours

(a, b) not (a, c) not without

(a, c) or (a, b) or (a, b), (a. c)
(a, d) (a. d) or (a, d)

tours with

(a, b), (a, c)
not (a, d) 

tours with tours with tours with

(a, b) and (a, c) and (a, d) not
(a, d) not (a, d) not (a. b) or
(a, c) (a, b) (a, c)

 
Fig. 10.20. Beginning of a solution tree for a TSP instance.

of the two tour edges adjacent to node n is no less than the sum of the two
edges of least cost adjacent to n. Thus, no tour can cost less than one half the
sum over all nodes n of the two lowest cost edges incident upon n.

For example, consider the TSP instance in Fig. [0.21. Unlike the instance
in Fig. 10.15, the distance measure for edges is not Euclidean; that is, it bears

no relation to the distance in the plane between the cities it connects. Such a
cost measure might be traveling time or fare, for example. In this instance,
the least cost edges adjacent to node a are (a, d), and (a. b), with a total cost

of 5. For node 12, we have (a, b) and (b, e), with a total cost of 6. Similarly,
the two lowest cost edges adjacent to c, d, and e, total 8, 7, and 9, respec-
tively. Our lower bound on the cost of a tour is thus
(5+6+8+7+9)/2 = 17.5.
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Fig. 10.21. An instance of TSP.

Now suppose we want a lower bound on the cost of a subset of tours
defined by some node in the search tree. If the search tree is constructed as

in Example [0.8. each node represents tours defined by a set of edges that
must be in the tour and a set of edges that may not be in the tour. These con-
straints alter our choices for the two lowest-cost edges at each node, Obvi-
ously an edge constrained to be in any tour must be included among the two
edges selected. no matter whether they are or are not lowest or second lowest

in coxt.1' Similarly, an edge constrained to be out cannot be selected. even if
its cost is lowest.

Thus, if we are constrqined to include edge (a, e]. and exclude (b. c),
the two edges for node a are (a. d] and (a. c]. with a total cost of 9. For I:
we select (a. b) and (b, e). as before, with a total cost of 6. For c, we can-
not select to, c), and so select (a, c} and (c, d). with a total cost of 9. For a’
we select fa, d) and (c, d). as before. while for e we must select (a, e), and
choose to select ((1. e). The lower hnund for these constraints is thus
(9+6+9+7+10)t2 = 20.5. El

Now let us construct the search tree along the lines suggested in Example
10.8. We consider the edges in lexicographic order. as in that example. Each

1 The rules for constructing the search tree will be seen to eliminate any set of constraints
that cannot yield any tour. e.g.. because three edges adjacenl to one node are required to
be in the tour.
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time We branch. by considering the two children of a node, we try to infer
additional decisions regarding which edges must be included or excluded from
tours represented by those nodes. The rules we use for these inference are;

1. If excluding an edge (1. 3;) would make it impoaslble for x or y to have

as many as twu adjacent edges in the tour. then (x . y) must be included.

2. If including (x. y) would cause x or y to have more than two edges adja-
cent in the tour. or would complete a non-tour cycle with edges alreadyr
included. then (x. y) must be excluded.

When we branch. after making what inferences we can. we compute tower
bounds for both children. If the lower bound for a child is as high or higher
than the lowest cost tour found so far. we can “prune" that child and need
not construct or consider its descendants. Interestingly. there are situations
where the lower bound for a node n is lower than the best solution so far, yet

both children of n can be pruned because their lower bounds exceed the cost
of the best solution so far.

If neither child can be pruned. we shall, as a heuristic. consider the child

with the smaller lower bound first. in the hope of more rapidly reaching a
solution that is cheaper than the one so far found best.1‘ After considering one
child. we must consider again whether its sibling can be pruned. since a new
best solution may haVe been found. For the instance of Fig. 10.2]. we get the

search tree of Fig. 10.22. To interpret nodes of that tree. it helps to under-
stand that the capital letters are names of the search tree nodes. The numbers
are the lower bounds. and we list the constraints applying to that node but
none of its ancestors by writing .9! if edge (1:. y} must be included and if if
(x. y) must be excluded. Also note that the constraints introduced at a node

apply to at] its descendants. Thus to get all the constraints applying at a node
we must follow the path from that node to the root.

Lastly. let us remark that as for backtrack search in general. we construct

the tree one node at a time. retaining only one path. as in the recursive algo-
rithm of Fig. 10.17. or its nonrecursive counterpart. The nonrecursive version
is probably to be preferred. so that we can maintain the list of constraints con-
veniently on a stack.

Example 10.10. Figure 10.22 shows the search tree for the TSP instance of
Fig. 10.2]. To see how it is constructed. we begin at the root A of Fig.

10.22. The first edge in lexicographic order is (a. b}. so we consider the two
children 3 and C. corresponding to the constraints ab and ob. respectively.
There is, as yet. no "best solution so far." so we shall consider both E and C

eventually: Forcing (n , b) to be included does not raise the lower bound. but

1 An alternative is to use a heuristic to obtain a good solution using the constraints re:
quired M ends child. For example. the reader Should be able to modify the greedy TSP
algoritiun to respect constraints.
1 We could start with some heuristicaily found aotution. sag.T the greedy one. although that
would not affect this example. The greedy solution for Fig. 10.21 has colt 11.
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excluding it raises the bound to 18.5. since the two cheapest legal edges for
nodes at and 5 now total 6 and 7. respectively. compared with 5 and 6 with no
constraints. Following our heuristic. we shall consider the descendants of
node B first.

The next edge in lexicographic order is (a. c). We thus introduce chil-

dren D and E corresponding to more where (a. c} is included and excluded,
respectively. In node I). we can infer that neither (a. :1} nor (a. e} can be in
a tour. else a would have too many edges incident. Following our heuristic
we consider E before D. and branch on edge (a. d). The children F and G

are introduced with lower bounds l8 and 23, respectively. For each of these
children we know about three of the edges incident upon a. and so can infer
something about the remaining edge (a. 9).

Consider the children of F first. The first remaining edge in lexicographic
order is (b. c]. If we include (b. c}. then. as we have included (a. b}. we
cannot include (b. d) or (b, e). As We have eliminated (a. e) and (b, e). we
must have (c, e] and (rt. e). We cannot have (c, d} or c and d would have

three incident edges. We are left with one tour (a. b. c. e. d. e), whose cost
is 23. Similarly. node I, where (b. r) is excluded. can be proved to represent
only the tour (a. b, e, c. d. a), of cost 21. That tour has the lowest cost
found so far.

We now backtrack to E and consider its second child, G. But G has a

lower bound of 23. which exceeds the best cost so Far. 21. Thus we prune G.
We now backtrack to H and consider its other child. D. The lower bound on

D is 20.5. but since costs are integers. we know no tour represented by D can
have cost less than 21. Since we already have a tour that cheap. we need not
explore the descendants of D. and therefore prune D. Now we backtrack to A
and consider its second child, C .

At the level of node C. we have only considered edge (a. b). Nodes J
and K are introduced as children of C. .1 corresponds to those tours that have

(a. c) but not (a. b]. and its lower bound in 18.5. K corresponds to tours
having neither to. 1:) nor (a. c). and we may infer that those tours have

(a. d} and (a, e). The lower bound for K is 21, and we may immediately
prune K. since we already know a tour that is low in cost.

We next consider the children of I. which are L and M. and we prune M
because its lower bound exceeds the best tour cost so far. The children of L

are N and P. corresponding to tours that have (b, c]. and that exclude (b, c).
By considering the degree of nodes .6 and c. and remembering that the
selected edges cannot form a cycle of fevver than all five cities. we can infer

that nodes N and P each represent single tours. One of these.
(a. r, b. e. d. a). has the lowest cost of any tour, l9. We have explored or
pruned the entire tree and therefore end. B
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Fig. 10.22. Search tree for TSP solution.

10.5 Local Search Algorithms

Sometimes the following strategy will produce an optimal solution to a prob-
lem.

l. Start with a random solution.

2. Apply to the current solution a transformation from some given set of
transformations to improve the solution. The improvement becomes the
new "current" solution.

3. Repeat until no transformation in the set improves the current solution.

The resulting solution may or may not be optimal. In principle. if the
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“given set of transformations" includes all the transformations that take one

solution and replace it by any other. then we shall never stop until we reach
an optimal solution. But then the time to apply (2) above is the same as the

time needed to examine all solutions. and the whole approach is rather point-less.

The method makes sense when we can restrict our set of transformations

to a small set. so we can consider all transformations in a short time; perhaps
Glitz) or 00:3} transformations should be allowed when the problem is of
“sire" rt. [f the transformation set is small. it is natural to view the solutions

that can be transformed to one another in one step as “close." The transfor-
mations are called "local transformations." and the method is called local
Search.

Example 10.11. One problem we can solve exactly by local search is the
minimal spanning tree problem. The local transformations are those in which
we take some edge not in the current spanning tree, add it to the tree. which

must produce a unique cycle, and then eliminate exactly one edge of the cycle
(presumably that of highest cost) to form a new tree.

For example. consider the graph of Fig. 10.2]. We might start with the
tree shown in Fig. |U.23(a}. One transformation we could perform is to add
edge (d, e) and remove another edge in the cycle formed. which is
(e. a. c, (1.5). if we remove edge (a. a). we decrease the cost of the tree

from 20 to 19. That transformation can he made. leaving the tree of Fig.
10.2301), to which we again try to apply an improving transformation. One
such is to insert edge (a. d) and delete edge (e. dl from the cycle formed.
The result is shown in Fig. 10.231c]. Then we might introduce (a, b} and

delete (b. c) as in Fig. 10.23(d). and subsequently introduce (b. a} in favor of
(d. e}. The resulting tree of Fig. 10230:) is minimal. We can check that

every edge not in that tree has the highest cost of any edge in the cycle it
forms. Thus no transformation is applicable to Fig. l0.23te]. III

The time taken by the algorithm of Example 10.1! on a graph of n nodes
and e edges depends on the number of times we need to improve the solution.
Just testing that no transformation is applicable could take Glee) time, since a

edges must be tried, and each could form a cycle of length nearly n. Thus the
algorithm is not as good as Prim‘s or Krusknl's algorithms. but serves as an
example Where an optimal solution cart be obtained by local search.

Local Search Approximation Algorithms

Local search algorithms have had their greatest effectiveness as heuristics for

the solution to problems whose exact solutions require exponential time. A
common method of search is to start with a number of random solutions. and
apply the local transformations to each. until reaching a locally optimal solu-
tion. one that no transformation can improve, We shall frequently reach dif-
ferent locally optimal solutions, from most or all of the random starting solu—
tions, as suggested in Fig. [0.24. if we are lucky, one of them will be
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Fig. 10.23. Local search for a minimal spanning tree.

globally optimal, that is, as good as any solution.
In practice. we may not find a globally optimal solution as suggested in

Fig. l0.24, since the number of locally optimal solutions may be enormous.
Howaver. We may at least choose that locally optimal solution that has the
least cost among all those found. As the number of kinds of local transforma-
tions that have been used to solve various problems is great. we shall close the

section with two examples -—- the TSP. and a simple problem of "package
placement . "

The Traveling Salesman Problem

The TSP is one for which local search techniques have been remarkably suc-

cessful. The simplest transformation that has been used is called "2-opt'1ng.“
It consists of taking any two edges, such as (A. B) and (C, D) in Fig. 10.25.
removing them, and reconnecting their endpoints to form a new tour. In Fig.
10.25. the new tour runs from B, clockwise to C, then along the edge (C. A).
countercloekwlse from A to D, and finally along the edge (D, B}. if the sum

of the lengths of (A, C) and (B, D) is less than the sum of the lengths of
(A. B) and (C, D). then we have an improved tonni Note that we cannot

1‘ Do not be fooled by the picture of Fig. [0.25. True. if lengths of edge: are distances in
[he plane. then [he dashed edges in Fig. 1025 must be longer than those Ila}! replace. In
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Starting solutions

f____.x~.____e._fl

  
Locally optimal
solution Globally optimal

solution

Fig. 10.24. Local search in the space of solutions.

connect A to D and B to C, as the result would not be a tour. but two disjoint
cycles.

To find a locally optimal tour. we start with a random tour, and consider
all pairs of nonadjacent edges. such as (A. B) and (C. D) in Fig. l0.25. If
the tour can be improved by replacing these edges with (A. C) and (B. D).
do so. and continue considering pairs of edges that have not been considered
before. Note that the introduced edges (A C) and (B. D) must each be

paired with all the other edges of the tour. as additional improvements could
result.

Example [0.12. Reconsider Fig. 10.2l, and suppose we start with the tour of

Fig. 10.26”). We might replace (a. e) and (c. d), with a total cost of I2. by
(a. d} and (e, 9). with a total cost of it). as shown in Fig. I0.26(b). Then we
might replace (a, b) and (c. e) by (a, c} and (b. 2), giving the optimal tour
shown in Fig. I0.26(c). One can check that no pair of edges can be removed
from Fig. l0.26(c) and he profitably replaced by crossing edges with the same
endpoints. As one case in point. to, r) and (d, 9) together have the rela—
tively high cost of it]. But (at. e) and (b. d) are worse. costing l4 together. E1

general. however. there is no reason to assume the distances in Fig. 10.25 are distances in
the plane. or it' they are. it could have been (A. B) and (C. D) that crossed. not (A. C)
and {8. Di.
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Fig. 10.25. Z-opting.

 
Fig. 10.26. Optimizing a TSP instance by Z-opting.

We can generalize 2-opting to k-opting for any constant k. where we
remove up to k edges and reconnect the remaining pieces in any order so that
result is a tour. Note that we do not require the removed edges to he nonada

jacem in general, although for the Z-opting case there was no point in consid—
ering the removal of two adjacent edges. Also note that for k>2, there is
more than one way to connect the pieces. For example, Fig. 10.2? shows the
general process of 3-optiug using any of the following eight sets of edges.
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(A.F).(D.E).{B.C) (as the tour was)

(A, F), (C. E). (D. B) (a 2-0th
(A; E); (F. D). (B. C} (another 2—opt)
(A. E). (F, C), (B, D) (a true 3-opt}
(A. D), (C, E}, (B, F) (another true 3-opt)
(A. D). (C. F}. (B. E) (another true 3—opt)

(A. C). (D. E}. (B. F) (a 2-0pm
(-4. C). (D. F}, (B, E) {a 3-opt)

enooewv—

Fig. 10.27. Pieces of a tour after removing three edges.

it is easy to check that. for fitted It, the number of different k-opting
transformations we need to consider if there are it yertices is 001*). For
example, the exact number is rim—3V2 for l: = 2. The time taken to obtain a

locally optimal tour may be considerably higher than this. however. since we
could make many local transformations before reaching a locally optimum

tour, and each improving transformation introduces new edges that may parti-
cipate in later transformations that improve the tour still further. Lin and
Kernighan [1973] have found that variable-depth-opting is in practice a very
powerful method and has a good chance of getting the optimum tour on 40-
100 city problems.

Package Placement

The one-dimensional package placement problem can be stated as follows. We
have an undirected graph. whose vertices we call "packages." The edges are
labeled by ”weights," and the weight wta, b) of edge (a, b) is the number of

“wires" between packages a and b. The problem is to order the vertices

p,. F}. . . . -Pm such that the sum of li—ji wt'ph pf} over all pairs i and j is
minimized. That is, we want to minimize the sum of the lengths of the wires
needed to connect all the packages with the required number of wires.

The package placement problem has had a number of applications. For
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example, the "packages“ could he logic cards on a rack. and the weight of an
interconnection between cards is the number of wires connecting them. A
similar problem comes up when we try to design integrated circuits from
arrays of standard modules and interconnections between them. A generaliza-
tion of the one-dimensional package placement problem allows placement of
“packages.“ which have height and width. in a two-dimensional region, while
minimizing the sum of the lengths of the wires between packages. This prob-
lem also has application to the design of integrated circuits. among other
areas.

There are a number of local transformations we could use to find local

optima for instances of the one-dimensional pacltage placement problem.
Here are several.

1. Interchange adjacent packages p,- and pi.“ if the resulting order is less

costly. Let LU) be the sum of the weights of the edges extending to theJ’ It

left of pi. i.c., E wtph le' Similarly, let Rt’j) be 2 w{pk,pj].last .t=j+1

improvement results if LU) — R“) + R(t'+ 1) ~ L{r‘+l) + Zwtpi, pi“) is
negative. The reader should verify this formula by computing the costs
before and after the interchange and taking the difference.

2. Take a package p.- and insert it between p] and p] .1 for some i and j.

3. Interchange any two packages p,- and p}.

Example 10.13. Suppose we take the graph of Fig. 10.2] to represent a pack-
age placement instance. We shall restrict ourselves to the simple transforma-
tion set (I). An initial placement, a, b. c. d. e. is shown in Fig. 10.28(a): it
has a cost of 9‘]. Note that the cost function weights edges by their distance.
so (a. e) contributes 4x? = 28 to the cost of 9?. Let us consider interchang-
ing 0' with e. We have Ltd) = 13, Rld) = 6, Me} = 24. and Rte) = 0.
Thus Ltdl—th]+R(e)—L(e)+2w(d, c} = —5. and we can interchange of and
e to improve the placement to (a. b, c. e. d). with a cost of 92 as shown in
Fig. 10.28{b).

In Fig. 10.28tb], we can interchange c with e profitably, producing Fig.

10.28{c). whose placement (a, b, e, 6. ti) has a cost of 91. Fig. lD.28(c) is
locally optimal for set of transformations (t). it is not globally optimal;
in. c, e, d. b) has a cost of 84. D

As with the TSP1 we cannot estimate closely the time it takes to reach a

local optimum. We can only observe that for set of transformations {1}, there

are only n—l transformations to consider. Further, if we compute LU) and
ME} once, We only have to change them when p. is interchanged with pm or
pm. Moreover. the recalculation is easy. If p,- and pm are interchanged. for
example, then the new Lil) and RU) are, respectively. L(i+l) - w(p,v. Pf+|)
and R(t'+ l} + WlPoPrHl- Thus 00:} time suffices to test for an improving
transformation and to recalculate the LOTS and th'l's. We also need only
0(a) time to initialize the L(i)’s and Riffs. if we use the recurrence
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Fig. 10.28. Local optimizations.

L0} = 0

LU} = LU“1}+ WiPr-irptl

and a similar recurrence for R.

In comparison. the sets of transformations {2) and (3) each have 00:2}
members. It will therefore take 00:1) time just to confirm that we have a
locally,r optimal solution. However. as for set (I), we cannot closely bound the
total time taken when a sequence of improvements are made. since each
improvement can create additional opportunities for improvement. U

Exercises

10.! How many moves do the algorithms for moving it disks in the Towers
of Hanoi problem take?

4-102 Prove that the recursive (divide and conquer) algorithm for the Tower
of Hanoi and the simple nonrecursive algorithm described at the
beginning of Section 10.! perform the same steps.

10.3 Show the actions of the divide~and-conquer integer multiplication
algorithm of Fig. 10.3 when multiplying 1011 by 110].

”0.4 Generalize the tennis tournament construction of Section 10.1 to tour-

naments where the number of players is not a power of two. Hint. If
the number of players it is odd. then one player must receive a bye
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(not play) on any given day. and it will take I! days, rather than n —l
to complete the tournament. However. if there are two groups with
an odd number of players. then the players receiving the bye from
each group may actually play each other.

10.5 We can recursively define the number of combinations of in things

out ofn. denoted (st). for n 2 land 0 S In S n, by

(;}=t ifm =Oorm =n

(3;) = (":1 + (3,11,) it0< m < n

a] Give a recursive function to compute (:1).
b) What is its worst—case running time as a function of n?

c) Give a dynamic programming algorithm to compute {a}. Hint.
The algorithm constructs a table generally known as Pascal's tri-
tingle.

d) What is the running time of your answer to (c) as a function of
n .

10.6 One way to compute the number of combinations of or things out of
n is to calculate (n)(n -—l)(n—2) - - -(n —m +1)!(l)(2) -- -(m}.

a) What is the worst case running time of this algorithm as a func-
tion of n?

Ieh) Is it possible to compute the “World Series Odds" function
PU, j) from Section 10.2 in a similar manner? How fast can you
perform this computation?

10.7 a} Rewrite the odds calculation of Fig. 10.1l to take into account the
fact that the first team has a probability p of winning any given
game.

b) If the Dodgers have won one game and the Yankees two. but the

Dodgers have a .6 probability of winning any given game, who is
more likely to win the World Series?

10.8 The odds calculation of Fig. 10.7 requires 001’) space. Rewrite the
algorithm to use only 0(a) space.

“0.9 Prove that Equaticn (10.4) results in exactly 20:13—1 calls to P.
10.10 Find a minimal triangulation for a regular ouagon, assuming dis-

tances are Euclidean.

10.11 The paragraphing problem. in a very simple form. can be stated as
follows: We are given a sequence of words W|.Wg, . . . . wk of
lengths 1., l1. . . . . (k. which we wish to break into lines of length L.

Words are separated by blanks whose ideal width is b. but blanks can
stretch or shrink if necessary (but without overlapping words}. so that

a line w; w,“ - - - w} has length exactly L. However, the penalty
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for stretching or shrinking is the magnitude of the total amount by
which blanks are stretched or shrunk. That is, the cost of setting line

w,- Wl+1 w} for j>i is (j---:‘) |b'—b|, where b', the actual
width of the blanks, is (L_ff‘_ ,-+.- .. - —lJ)/(j-i). However, if
j =1: (we have the last line). the cost is zero unless b“ 4: 1:. since we

do not have to stretch the last line. Give a dynamic programming
algorithm to find a least-cost separation of wt, wz. . . . , wt into lines
of length L. Hint. For i=k. k— l, . . . . 1. compute the least cost of
setting as, wt+1.:...w*.

Suppose we are given n elements XI, .13. . . . ,1" related by a linear
order x. < x; < . . - < x". and that we wish to arrange these ele-

ments In in a binary search tree. Suppose that p, is the probability
that a request to find an element will be for xi. Then for any given

binary search tree, the average cost of a lockup is 2 part; +1).t-t

where (it is the depth of the node holding xi. Given the pi's, and
assuming the xl‘s never change, we can find a binary search tree that
minimizes the lookup cost. Find a dynamic programming algorithm
to do so. What is the running time of your algorithm? Hint. Com-
pute for all t' and j the optimal lockup cost among all trees containing

only in, :1“. . . . . I;+j-h that is, the} elements beginning with 1;.

For what values of coins does the greedy change-making algorithm of
Section 10.3 produce an optimal solution?

a) Write the recursive triangulation algorithm discussed in Section
10.2.

b) Show that the recursive algorithm results in exactly 3’ " calls on
nontrivial problems when started on a problem of size 55:4.

Describe a greedy algorithm for

a) The one-dimensional package placement problem.

It) The paragraphing problem (Exercise 10.11}.

Give an example where your algorithm does not produce an optimal
an swer. or show that no sud: example exists.

Give a nonrecursive version of the tree search algorithm of Fig.
10.17.

Consider a game tree in which there are 5th marbles, and players 1
and 2 take turns picking from one to three marbles. The player who
takes the last marble loses the game.

a) Draw the complete game tree for this game.

b) If the game tree were searched using the alpha-beta pruning tech-
nique, and nodes representing configurations with the smallest
number of marbles are searched first. which nodes are pruned?
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c} Who wins the game if both play their best?

l"10.18 Develop a branch and bound algorithm for the TSP based on the idea
that we shall begin a tour at vertex l, and at each level, branch based
on what node comes next in the tour (rather than on whether a partic-

ular edge is chosen as in Fig. 10.22). What is an appropriate lower
bound estimator for configurations. which are lists of vertices

1, v1. 9;, . . . that begin a tour? How does your algorithm behave
on Fig. “1.21, assuming a is vertex 1?

I0411.19 A possible local search algorithm for the paragraphlng problem is to
allow local transformations that move the first word of one line to the

previous line or the last word of a line to the line following. 15 this
algorithm locally optimal. in the sense that every locally optimal solu-
tion is a globally optimal solution?

[0.20 If our local transformations consist of 2-opts only, are there any
locally optimal tours in Fig. 10.21 that are not globally optimal?
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